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100.0 100.0 - 22.2 - - - - - 71.8 - - -
ST 2 2 - - - - - - 2 - - -
100.0 100.0 - - - - - - - 100.0 - - -
PR 1 1 - - - - - - 1 - - -
100.0 1000 - - - - - - - 100.0 - - -
A%
i, 12 12 - 4 - - - - - 8 - - -
100.0 100.0 - 333 - - - - - 66.7 - - -
R - - - - - - - - - - - - -
T - B - E E - E E - E - E E E E
RTINS WRAT S S 7 7 - 6 - - - - - 1 - - -
100.0 100.0 - 85.7 - - - - - 143 - - -
@fE/ V7 b7 1 1 - - - - - - - 1 - - -
1000 1000 - - - - - - - 1000 - - -
g/ 77 b 1 1 1 - - - - - - - - -
100.0 100.0 100.0 - - - - - - - - - -
Z oI 6 6 2 4
100.0 100.0 - 33.3 - - - - - 66.7 - - -
AW - - - - - - - - - - - - -
RS 136 136 5 30 - - - - - 97 2 2 -
¥ 100.0 100.0 31 22.1 - - - - - 713 1.5 15 -
|3 20 20 1 4 1 14
e 100.0 1000 5.0 20.0 - - - 5.0 - 700 - - -
IR 5 5 - 1 - - - 2 - 2 - - -
1000 1000 - 20.0 - - - 40.0 - 400 - - -
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1-1. 201 EFOEFRFRRAHICDONT

R e (kb)) . O FRY : AERkEE (%)
& At G ICES s ESEo IR A< B

Eoe e 840 834 563 144 127 6
100.0 100.0 67.5 17.3 15.2 0.7
¥ B - BROKEIN T 71 71 52 12 7 -
Fili 100.0 100.0 73.2 16.9 9.9 -
GURES: 345 8 8 4 1 3 -
Ghh A - Ak - Ab P RkE) 100.0 100.0 50.0 12.5 37.5 -
AR - iR AE R S 3 3 1 - 2 -
100.0 100.0 33.3 - 66.7 -
A - AR (FEHE - o 1 1 - - 1 -
A le Yk ) 100.0 100.0 - - 100.0 -
SLH - T U T, 3 3 1 - 2 -
100.0 100.0 33.3 - 66.7 -
ML - 3 3 3 - - -
100.0 100.0 100.0 - - -
o e T R 68 68 54 9 5 -
100.0 100.0 79.4 13.2 7.4 -

7T AT B, 20 19 13 3 3 1
100.0 100.0 68.4 15.8 15.8 5.0
22 3 10 10 7 1 2 -
100.0 100.0 70.0 10.0 20.0 -

= 2 B 17 16 12 3 1 1
100.0 100.0 75.0 18.8 6.3 5.9
e S S <] 14 14 8 2 4 -
100.0 100.0 57.1 14.3 28.6 -

5k FiR) 31 30 25 2 3 1
($5 % 365 5 & & 2e) 100.0 100.0 83.3 6.7 10.0 3.2
F k< R 16 16 14 1 1 -
100.0 100.0 87.5 6.3 6.3 -
< Y 34 34 23 5 6 -
(A %00 1% & de) 100.0 100.0 67.6 14.7 17.6 -
— s A bk 77 77 59 12 6 -
(7 - Bbk T H A & Te) 100.0 100.0 76.6 15.6 7.8 -
AR - BB RS 54 54 39 11 4 -
100.0 100.0 72.2 20.4 7.4 -
B - HE R AL 68 68 48 13 7 -
100.0 100.0 70.6 19.1 10.3 -

igi 1% FH B 2e 21 19 11 5 3 2
(H By E - i =) 100.0 100.0 57.9 26.3 15.8 9.5
iy 325 FF B B 5 195 195 103 44 48 -
(B EhE - g H) 100.0 100.0 52.8 22.6 24.6 =

il 4 B Ak 28 27 25 2 - 1
100.0 100.0 92.6 7.4 — 3.6
= 95 B 2 5 5 4 - 1 -
100.0 100.0 80.0 - 20.0 -
Fml - 1 R 1 1 - - 1 -
100.0 100.0 - - 100.0 -
& oD il B 5 2 92 92 57 18 17 -
100.0 100.0 62.0 19.6 18.5 -
A BA - - - - - -

s | A ¥ 626 620 437 100 83 6
ES 100.0 100.0 70.5 16.1 13.4 1.0
|1 e 194 194 117 39 38 -
AL 100.0 100.0 60.3 20.1 19.6 -
CURENI] 20 20 9 5 6 -
100.0 100.0 45.0 25.0 30.0 -
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2-1. 2010 F LR L F-15E. 2011 FOEEFERAADEL

B AR () L FEBE MEEE (%)
aEt | AEE | S B B 9

7% 3 840 835 327 236 272 5
100.0 100.0 39.2 28.3 32.6 0.6
¥ - BRKPEI T 71 71 28 23 20 -
fi 100.0 100.0 39.4 32.4 28.2 -
I (ke 8 8 3 3 2 -
Gt - fik - AL Ak 100.0 100.0 37.5 375 25.0 -
AR - A R 3 3 - 2 1 -
100.0 100.0 - 66.7 33.3 -
AM - ARG (RE - 4 1 1 - - 1 -
YT U TREERLD 100.0 100.0 - - 100.0 -
FH A7) 7RG 3 3 1 1 1 -
100.0 100.0 33.3 33.3 33.3 -
4o R T 3 3 1 1 1 -
100.0 100.0 33.3 33.3 33.3 -
e dh . AR 68 68 39 16 13 -
100.0 100.0 57.4 235 19.1 -
TTAF w7 R 20 19 7 5 7 1
100.0 100.0 36.8 26.3 36.8 5.0
22 35 10 10 2 4 4 -
100.0 100.0 20.0 40.0 40.0 -
= B 17 16 7 6 3 1
100.0 100.0 43.8 375 18.8 5.9
Z¥E- A 14 14 3 2 9 -
100.0 100.0 21.4 14.3 64.3 -
Y| 31 30 17 5 8 1
(H 88 in & & 1p) 100.0 100.0 56.7 16.7 26.7 3.2
El 733 16 16 5 4 7 -
100.0 100.0 31.3 25.0 43.8 -
4 )@ B i 34 34 15 10 9 -
(A v XN % Eir) 100.0 100.0 44.1 29.4 26.5 -
— MR 77 77 47 20 10 -
(&7 - Btk T B %2 & Tr) 100.0 100.0 61.0 26.0 13.0 -
B - BT 54 54 18 25 11 -
100.0 100.0 33.3 46.3 20.4 -
i e 68 68 18 23 27 -
100.0 100.0 26.5 33.8 39.7 -
% T pe R 21 19 8 5 6
(@ - iy ) 100.0 100.0 42.1 26.3 31.6 9.5
1 2% FH B 4050 o 195 195 54 36 105
([ & - iy ) 100.0 100.0 27.1 18.5 53.8 -
i % A 28 28 13 13 2 -
100.0 100.0 46.4 46.4 7.1 -
55 5% e 2 5 5 1 3 1 -
100.0 100.0 20.0 60.0 20.0 -
LR« HE R 1 1 1 - - -
100.0 100.0 100.0 - - -
Z O fih B3k 3 92 92 39 29 24 -
100.0 100.0 42.4 31.5 26.1 -
A - - - - - -
EAPNTE S 626 621 249 171 201
*® 100.0 100.0 40.1 275 32.4 0.8
B3 194 194 74 57 63 -
i 100.0 100.0 38.1 29.4 325 -
INEN! 20 20 4 8 8 -
100.0 100.0 20.0 40.0 40.0 -
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3-1.2011 FOEEF| 4 RiAH DR
O HETIEH (EHREZ)

B AR () L FE R (%)

Gt | AREE A | BT | BB | BATRRE | ENFRRE | Ao | FEE - | ARED | Tofh RH]
ORFEE | OBEE | filko L | ax o [ax o | BB | tBBE0 | opE
s Y| b T (B T% il 38
BowE
ZBR<)
wH 840 326 128 254 96 9 15 67 77 11 35 514
100.0 100.0 39.3 779 29.4 28 46 20.6 23.6 3.4 10.7 61.2
3B - RKFEM T 71 28 12 21 12 - - 3 6 3 6 43
i 100.0 100.0 42.9 75.0 42.9 - - 10.7 21.4 10.7 21.4 60.6
A (A 8 3 2 3 2 - - 1 1 - - 5
(Rt - et - Ak FakiE) 100.0 100.0 66.7 100.0 66.7 - - 33.3 33.3 - - 62.5
KR - P 3 - - - - - - - - - - 3
100.0 - - - - - - - - - - 100.0
AM - KRG (FE - A 1 - - - - - - - - - - 1
VT T ERL) 100.0 - - - - - - - - - - 100.0
FH ATV T8 3 1 - - - - 1 1 1 - - 2
100.0 100.0 - - - - 100.0 100.0 100.0 - - 66.7
W ST 3 1 - 1 - - - - - - - 2
100.0 100.0 - 100.0 - - - - - - - 66.7
fLoedh, AR 68 39 20 27 18 - 1 3 3 3 2 29
100.0 100.0 51.3 69.2 46.2 - 2.6 7.7 7.7 7.7 5.1 426
TIAF v 7 Wik 20 7 3 4 2 - 1 1 2 1 2 13
100.0 100.0 42.9 57.1 28.6 - 14.3 14.3 28.6 14.3 28.6 65.0
& 3 10 2 2 1 1 - - - 1 - 1 8
100.0 100.0 100.0 50.0 50.0 - - - 50.0 - 50.0 80.0
EFNTFH 17 7 1 5 3 - - 2 1 - 1 10
100.0 100.0 14.3 71.4 42.9 - - 28.6 14.3 - 14.3 58.8
Z¥ - +A 14 3 1 3 - - - - 1 - - 11
100.0 100.0 33.3 100.0 - - - - 333 - - 78.6
fi3i] 31 17 4 14 9 - 2 3 4 - 1 14
(Bt & &) 100.0 100.0 235 82.4 52.9 - 11.8 17.6 235 - 5.9 45.2
Fla 73] 16 5 1 4 4 - - - - - 2 11
100.0 100.0 20.0 80.0 80.0 - - - - - 40.0 68.8
& 8B 34 15 4 13 5 - 1 4 4 - - 19
(A v F L% &) 100.0 100.0 26.7 86.7 33.3 - 6.7 26.7 26.7 - - 55.9
— kR 77 47 23 40 11 - - 8 13 3 2 30
(&7 - W T B % &) 100.0 100.0 489 85.1 23.4 - - 17.0 277 6.4 4.3 39.0
B - B 54 18 10 11 3 1 1 6 3 - 2 36
100.0 100.0 55.6 61.1 16.7 5.6 5.6 33.3 16.7 - 1.1 66.7
TR - BT 68 18 9 15 5 - - 3 2 1 2 50
100.0 100.0 50.0 83.3 27.8 - - 16.7 11.1 5.6 11.1 735
i 0% 1 e 2 21 8 2 6 2 1 - 2 3 - 1 13
(H@H - i) 100.0 100.0 25.0 75.0 25.0 12.5 - 25.0 375 - 12.5 61.9
T 2% P A 2 195 54 9 45 7 5 6 16 17 - 7 141
(HBHH - ZHRE) 100.0 100.0 16.7 83.3 13.0 9.3 11.1 29.6 315 - 13.0 723
R AR 28 13 5 10 4 - 1 3 7 - - 15
100.0 100.0 385 76.9 30.8 - 7.7 23.1 53.8 - - 53.6
[ 5 1 - 1 - - - - - - - 4
100.0 100.0 - 100.0 - - - - - - - 80.0
FVRI « HH i 1 - - - - - - - - - - 1
100.0 - - - - - - - - - - 100.0
Z O 92 39 20 30 8 2 1 11 8 - 6 53
100.0 100.0 51.3 76.9 205 5.1 2.6 282 205 - 15.4 57.6
AH - - - - - - - - - - - -
[APNIE S 626 249 99 194 76 9 12 49 56 8 26 377
E 100.0 100.0 39.8 779 305 3.6 48 19.7 225 32 10.4 60.2
LN e 194 73 28 56 18 - 3 17 20 3 8 121
HE 100.0 100.0 38.4 76.7 24.7 - 4.1 23.3 27.4 4.1 11.0 62.4
N 20 4 1 4 2 - - 1 1 - 1 16
100.0 100.0 25.0 100.0 50.0 - - 25.0 25.0 - 25.0 80.0
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3-1. 2011 FDEZEFI RAH DIRHL
(BHEE)

@ Bt HHEH

LB AR () . FE L (%)

At | APEE | AT | BN | RO T [ WATE | HNEE | AERo | FEE - | ARLE | Zoft AR
ORI E | DIRTE&E % aAbo | aAbo | EFE O |DEREO | oS
ey b LR (B EF L5
Bowk
ZH<)
7Y 3 840 271 51 146 66 62 71 49 22 111 57 569
100.0 100.0 18.8 53.9 24.4 229 26.2 18.1 8.1 41.0 21.0 67.7
¥|af - BAKEMNT 71 20 4 4 4 2 15 4 4 4 2 51
il 100.0 100.0 20.0 20.0 20.0 10.0 75.0 20.0 20.0 20.0 10.0 71.8
Rl ke 8 2 - 1 - 2 - 1 1 1 - 6
(B5# - 44 - AL FHAE) 100.0 100.0 - 50.0 - 100.0 - 50.0 50.0 50.0 - 75.0
KR - A 3 1 - 1 - - 1 1 - - - 2
100.0 100.0 - 100.0 - - 100.0 100.0 - - - 66.7
Kb ARG (RR A 1 1 - 1 1 - - 1 - - - -
VT )T B ERL) 100.0 100.0 - 100.0 100.0 - - 100.0 - - - -
FHR AT ) TR 3 1 - 1 1 - - - - 1 - 2
100.0 100.0 - 100.0 100.0 - - - - 100.0 - 66.7
e LT 3 1 - 1 1 - 1 - - - - 2
100.0 100.0 - 100.0 100.0 - 100.0 - - - - 66.7
%, AR 68 13 2 6 3 5 8 3 - 3 2 55
100.0 100.0 15.4 46.2 23.1 38.5 61.5 23.1 - 23.1 15.4 80.9
7T AT 7 20 7 1 7 3 2 3 1 1 1 - 13
100.0 100.0 14.3 100.0 429 28.6 429 14.3 14.3 143 - 65.0
&3 10 4 1 2 - - 1 - - - 1 6
100.0 100.0 25.0 50.0 - - 25.0 - - - 25.0 60.0
EFN 0 17 3 - 1 - 1 1 1 - 1 1 14
100.0 100.0 - 333 - 333 333 333 - 33.3 33.3 82.4
kot R el 14 9 1 4 3 - 3 2 - - 1 5
100.0 100.0 1.1 44.4 333 - 333 22.2 - - 1.1 35.7
frs] 31 8 - 6 2 - 3 3 1 1 1 23
(s RmE B D) 100.0 100.0 - 75.0 25.0 - 375 315 125 125 125 74.2
B 16 7 2 1 2 2 - - - 3 2 9
100.0 100.0 28.6 57.1 28.6 28.6 - - - 429 28.6 56.3
&8 B 34 9 2 5 3 3 1 2 1 4 1 25
(A vy F¥MLEED) 100.0 100.0 222 55.6 333 333 1.1 222 1.1 44.4 1.1 735
— R 77 10 2 3 1 5 1 1 - 7 2 67
(&7 - MR TAZ &) 100.0 100.0 20.0 30.0 10.0 50.0 10.0 10.0 - 70.0 20.0 87.0
BRI - B 54 11 1 5 6 2 1 2 - 4 3 43
100.0 100.0 9.1 455 54.5 18.2 9.1 18.2 - 36.4 21.3 79.6
B BT 68 27 9 11 8 10 5 7 6 10 4 41
100.0 100.0 333 40.7 29.6 37.0 185 25.9 22.2 37.0 14.8 60.3
A0 b 2 21 6 2 2 1 2 2 1 - 5 2 15
(HBp 8 - “ ) 100.0 100.0 33.3 33.3 16.7 333 33.3 16.7 - 83.3 33.3 71.4
2% B3 3 195 105 13 68 17 16 21 17 5 56 35 90
(HEH - “#) 100.0 100.0 124 64.8 16.2 15.2 20.0 16.2 48 533 33.3 46.2
R R 28 2 1 - 2 - - - - 2 - 26
100.0 100.0 50.0 - 100.0 - - - - 100.0 - 92.9
[ i 25 5 1 - - 1 - - - 1 - - 4
100.0 100.0 - - 100.0 - - - 100.0 - - 80.0
FURI -t fE 1 - - - - - - - - - - 1
100.0 - - - - - - - - - - 100.0
Z Ofi s ¥ 92 23 10 13 7 10 4 2 2 8 - 69
100.0 100.0 435 56.5 30.4 435 174 8.7 8.7 34.8 - 75.0
AH - - - - - - - - - - - -
FPNGES 626 201 36 103 50 44 54 36 14 83 46 425
¥ 100.0 100.0 179 51.2 24.9 21.9 26.9 17.9 7.0 413 229 67.9
B H M 194 62 12 39 14 17 15 12 6 26 9 132
# 100.0 100.0 19.4 62.9 22.6 274 24.2 19.4 9.7 41.9 145 68.0
BB 20 8 3 1 2 1 2 1 2 2 2 12
100.0 100.0 375 50.0 25.0 125 25.0 125 25.0 25.0 25.0 60.0
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4-1. 202 FDREEFIREEL

BRI (kb)) . O FEE : AERkEE (%)
& At GEIEIES - BEIE A BN

e 2 840 800 442 294 64 40
100.0 100.0 55.3 36.8 8.0 4.8

¥ B - BROKEIN T 71 66 31 34 1 5
Fili 100.0 100.0 47.0 51.5 1.5 7.0
GURES 345 8 8 4 3 1 -
Ghh A - Ak - Ab P RkE) 100.0 100.0 50.0 37.5 125 -
AR - FlRE SR AL 3 3 - 3 - -
100.0 100.0 — 100.0 — -
A - AR (A - o1 1 1 - 1 - -
P le Yk ) 100.0 100.0 - 100.0 - -
SLH - T U L, 3 3 1 1 1 -
100.0 100.0 33.3 33.3 33.3 -
ML - X 3 3 1 1 1 -
100.0 100.0 33.3 33.3 33.3 -

b= dh . A i L A 68 64 39 22 3 4
100.0 100.0 60.9 34.4 4.7 5.9

7T AT B, 20 19 10 8 1 1
100.0 100.0 52.6 421 5.3 5.0

22 3 10 9 1 5 3 1
100.0 100.0 11.1 55.6 33.3 10.0

= 2 B 17 16 11 4 1 1
100.0 100.0 68.8 25.0 6.3 5.9

e S =] 14 13 5 4 4 1
100.0 100.0 38.5 30.8 30.8 7.1

5k §i) 31 30 18 10 2 1
($5 % 365 o & & 2e) 100.0 100.0 60.0 33.3 6.7 3.2

FE k< R 16 15 7 7 1 1
100.0 100.0 46.7 46.7 6.7 6.3

< Y 34 33 23 9 1 1
(A > 2% h0 1% 5 de) 100.0 100.0 69.7 27.3 3.0 2.9

— s A bk 77 74 39 26 9 3
(7 - Bbk T H A & Te) 100.0 100.0 52.7 35.1 12.2 3.9
AR - BB RS 54 53 21 27 5 1
100.0 100.0 39.6 50.9 9.4 1.9

HEA - HE R AL 68 63 27 32 4 5
100.0 100.0 42.9 50.8 6.3 7.4

igi 1% FH B 2e 21 19 10 7 2 2
(H By E - iy H) 100.0 100.0 52.6 36.8 10.5 9.5

iy 325 FF B B 35 195 189 130 48 11 6
(E EhE - g H) 100.0 100.0 68.8 25.4 5.8 3.1

il 4 B ek 28 25 13 10 2 3
100.0 100.0 52.0 40.0 8.0 10.7
= 958 B 2 5 5 4 1 - -
100.0 100.0 80.0 20.0 — -
FIRI - R 1 1 1 - - -
100.0 100.0 100.0 - — -

& oD il B 5 2 92 88 46 31 11 4
100.0 100.0 52.3 35.2 12.5 4.3
S B - - - - - -
FEPNETE S 626 595 332 218 45 31
ES 100.0 100.0 55.8 36.6 7.6 5.0
|1 e 194 188 100 70 18 [
AL 100.0 100.0 53.2 37.2 9.6 3.1
CURENE] 20 17 10 6 1 3
100.0 100.0 58.8 35.3 5.9 15.0
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S-1. fEXERIZDOLT
D BE—FHOEL

BB MRS () |

FEB ke (%)

BHE¥(R HARANBEER
“at BEE | B BiEw e KRB | AsEA | s BEw lE% RH

24 840 827 310 356 161 13 798 106 554 138 42
100.0 100.0 37.5 43.0 195 15 100.0 13.3 69.4 17.3 5.0
H[f - BKPEM T 71 69 31 32 6 2 67 9 48 10 4
fi 100.0 100.0 44.9 46.4 8.7 2.8 100.0 13.4 71.6 14.9 5.6
B |kl 8 8 2 5 1 - 8 - 5 3 -
GRE#E - - (b SlkiE) 100.0 100.0 25.0 62.5 12.5 - 100.0 - 62.5 37.5 -
AR - WA R 3 3 - 2 1 - 3 - 3 - -
100.0 100.0 - 66.7 333 - 100.0 - 100.0 - -
AR RS (R - A 1 1 - - 1 - 1 - 1 - -
TV TR ERRL) 100.0 100.0 - - 100.0 - 100.0 - 100.0 - -
FH AT ) TG 3 3 - 1 2 - 3 1 2 - -
100.0 100.0 - 33.3 66.7 - 100.0 33.3 66.7 - -
Ay 2 3 3 - 3 - - 3 - 3 - -
100.0 100.0 - 100.0 - - 100.0 - 100.0 - -
feEdh . AR 68 68 26 33 9 - 65 9 47 9 3
100.0 100.0 38.2 48.5 13.2 - 100.0 13.8 72.3 13.8 4.4
TIAF v 7B 20 19 2 9 8 1 18 2 12 4 2
100.0 100.0 10.5 47.4 42.1 5.0 100.0 1.1 66.7 22.2 10.0
22 5 i 10 9 1 6 2 1 6 2 4 - 4
100.0 100.0 11.1 66.7 222 10.0 100.0 33.3 66.7 - 40.0
= 17 17 5 7 5 - 16 1 12 3 1
100.0 100.0 29.4 41.2 29.4 - 100.0 6.3 75.0 18.8 5.9
E¥ - tA 14 14 2 9 3 - 14 2 12 - -
100.0 100.0 14.3 64.3 21.4 - 100.0 14.3 85.7 - -
Y 31 31 13 15 3 - 28 - 24 4 3
(s s i & & i) 100.0 100.0 41.9 48.4 9.7 - 100.0 - 85.7 14.3 9.7
ElR 9] 16 16 4 11 1 - 16 1 10 5 -
100.0 100.0 25.0 68.8 6.3 - 100.0 6.3 62.5 31.3 -
L 34 34 13 13 8 - 31 3 21 7 3
(XY ¥ML%EET) 100.0 100.0 38.2 38.2 23.5 = 100.0 9.7 67.7 22.6 8.8
— i B Ak 77 75 40 26 9 2 74 14 48 12 3
(&7 - T A% &) 100.0 100.0 53.3 34.7 12.0 2.6 100.0 18.9 64.9 16.2 3.9
B - R 54 54 19 24 11 54 9 35 10 -
100.0 100.0 35.2 44.4 20.4 - 100.0 16.7 64.8 18.5 -
B - BT 68 68 21 32 15 - 67 12 44 11 1
100.0 100.0 30.9 47.1 22.1 - 100.0 17.9 65.7 16.4 1.5
i 2 T B 25 21 19 8 8 3 2 20 5 9 6 1
(H B - ) 100.0 100.0 421 421 15.8 9.5 100.0 25.0 45.0 30.0 4.8
1 2 FF) B 3 0 195 193 71 69 53 2 191 19 131 41 4
(BB - i) 100.0 100.0 36.8 35.8 27.5 1.0 100.0 9.9 68.6 21.5 2.1
bkt 10 28 27 11 12 4 1 24 5 15 4 4
100.0 100.0 40.7 44.4 14.8 3.6 100.0 20.8 62.5 16.7 143
[ J B e 5 5 4 1 - - 5 1 4 - -
100.0 100.0 80.0 20.0 - - 100.0 20.0 80.0 - -
LRI+ iR 1 1 - - 1 - 1 - 1 - -
100.0 100.0 - - 100.0 - 100.0 - 100.0 - -
Z DO G ¥ 92 90 37 38 15 2 83 11 63 9 9
100.0 100.0 41.1 422 16.7 2.2 100.0 13.3 75.9 10.8 9.8

R - - - - - - - - -
HAPNTE S 626 616 243 258 115 10 597 83 403 111 29
Ed 100.0 100.0 39.4 41.9 18.7 1.6 100.0 13.9 67.5 18.6 4.6
BLdh i3 194 191 62 89 40 3 185 21 138 26 9
i 100.0 100.0 32,5 46.6 20.9 15 100.0 11.4 74.6 14.1 4.6
CIREN! 20 20 5 9 6 - 16 2 13 1 4
100.0 100.0 25.0 45.0 30.0 - 100.0 125 81.3 6.3 20.0
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5-1. EEBHIZDOINT
@ SHOFE

BB MRS () . FE MR (%)

BpE (B HARANBEER
Rk [ AhEE | s BiEw e KRB | AsEA | s BEw lE% RH

24 840 804 352 400 52 36 773 67 613 93 67
100.0 100.0 438 49.8 6.5 4.3 100.0 8.7 79.3 12.0 8.0
H[f - BKPEM T 71 68 26 39 3 3 65 9 49 7 6
fi 100.0 100.0 38.2 57.4 4.4 42 100.0 13.8 75.4 10.8 8.5
B |kl 8 8 4 3 1 - 8 - 8 - -
GRE#E - - (b SlkiE) 100.0 100.0 50.0 37.5 12.5 - 100.0 - 100.0 - -
AR - WA R 3 3 - 2 1 - 3 - 3 - -
100.0 100.0 - 66.7 333 - 100.0 - 100.0 - -
AR RS (R - A 1 1 - - 1 - 1 - 1 - -
TV TR ERRL) 100.0 100.0 - - 100.0 - 100.0 - 100.0 - -
FE AT Y TR, 3 3 1 1 1 - 3 - 2 1 -
100.0 100.0 33.3 33.3 33.3 - 100.0 - 66.7 33.3 -
Ay 2 3 3 1 2 - - 3 - 3 - -
100.0 100.0 33.3 66.7 - - 100.0 - 100.0 - -
feEdh . AR 68 63 22 38 3 5 61 3 54 4 7
100.0 100.0 34.9 60.3 4.8 7.4 100.0 4.9 88.5 6.6 10.3
TIAF v 7B 20 19 9 10 - 1 18 1 15 2 2
100.0 100.0 47.4 52.6 - 5.0 100.0 5.6 83.3 11.1 10.0
22 5 i 10 9 3 5 1 1 6 - 5 1 4
100.0 100.0 33.3 55.6 11.1 10.0 100.0 - 83.3 16.7 40.0
= 17 16 5 11 - 1 15 1 11 3 2
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B - TR 54 40 19 9 2 8 2 14
100.0 100.0 47.5 225 5.0 20.0 5.0 25.9
A - TR 68 48 19 9 3 16 1 20
100.0 100.0 39.6 18.8 6.3 33.3 2.1 29.4
i 3% JH) B 21 17 11 1 1 4 - 4
(E ®hH. - i o) 100.0 100.0 64.7 5.9 5.9 23.5 - 19.0
iifi 3% FH A58 % 350 15 195 133 57 21 20 33 2 62
(19 BhHL - i ) 100.0 100.0 42.9 15.8 15.0 24.8 15 31.8
il 7 AR 28 24 15 3 2 2 2 4
100.0 100.0 62.5 12.5 8.3 8.3 8.3 14.3
25 % 1 2 5 3 1 1 - 1 - 2
100.0 100.0 33.3 33.3 - 33.3 - 40.0
FRI - H R 1 - - - - - - 1
100.0 - - - - - - 100.0
Z o> Afth Hd ik 92 66 29 13 4 16 4 26
100.0 100.0 43.9 19.7 6.1 24.2 6.1 28.3
R - - - - - - - -
A PN S 626 461 199 87 40 125 10 165
¥ 100.0 100.0 43.2 18.9 8.7 27.1 2.2 26.4
B A 3 194 134 47 23 14 44 6 60
5L 100.0 100.0 35.1 17.2 10.4 32.8 4.5 30.9
IR NG| 20 10 3 2 - 5 - 10
100.0 100.0 30.0 20.0 - 50.0 - 50.0
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12 thEEDFESIZCDNT
@ *kEHBTEATWSA [FELE] (EHEIZ)

LB EAREH () . FB ML (%)

At | ADEE |k | WERE | RELM | SRS | ==X | 7TV 8 | EEEE | BEA | EEo | KEER | EE0s | Fo | AB
oo [ B0AT L BE [ELEE | REOS | OBA | ~oq v | B R | BRERE | £V 32
VA ey E3d tvi4| )
7
w5 840 556 541 9 13 30 7 4 7 21 30 9 16 9 284
1000 1000 973 16 11 54 49 07 13 38 54 142 29 16 338
Elfd - BAENT il 43 42 - 3 1 1 1 - 3 5 4 - - 23
i 1000 1000 977 - 10 23 23 23 - 70 116 93 - -l 394
Al i 8 4 3 - - - - - - - - - - 1 4
(B - ks - (v i) 1000 1000 750 - - - - - - - - - -l 250 50.0
AR - SR 3 2 2 - - 2 - - - - 1 - - - 1
1000 1000|1000 - -l 1000 - - - - 500 - - - 383
AR ABS (R4 1 1 1 - - - - - - - - - - - -
VT TRERR) 1000 1000|1000 - - - - - - - - - - - -
GR AT TR 3 3 3 - 1 - - - - - 1 P - - -
1000 1000|1000 - 383 - - - - -l 333 66.7 - - -
i AT 3 2 2 - - - - - - - - - - - 1
1000 1000| 1000 - - - - - - - - - - -l 83
bR, AR 68 149 149 2 2 1 - - 1 1 1 10 - - 19
1000 1000|1000 41 41 20 - - 20 20 20 204 - -l 29
TIAF ) B 20 13 13 - - - - - - - - 1 - - 7
1000 1000| 1000 - - - - - - - - 17 - -l 350
[ 3 10 1 1 - - - - - - R - - - - 9
1000 1000|1000 - - - - - - - - - - -l 900
EN 1) 17 13 13 - - - 1 - - 1 - - - - 4
1000 1000| 1000 - - - 11 - - 17 - - - -l a5
L R 14 7 7 - - - - - - - - - - - 7
1000 1000|1000 - - - - - - - - - - - 500
sl 31 17 16 - 1 1 1 1 - 1 - 2 1 1 14
(B L ED) 1000 1000 94.1 - 59 59 59 59 - 59 - 118 59 59 452
B3] 16 12 12 1 2 1 1 - - - - 2 1 - 4
1000 1000|1000 83 167 83 83 - - - - 16.7 83 - 250
k3T 34 27 27 1 6 1 2 - - 1 3 4 - - 7
(Fy¥MLzED) 1000 1000|1000 37 222 37 14 - - 37 11 148 - -l 208
— B b 1 56 54 1 1 4 - - 1 3 4 6 2 2 21
(G5 - BHTEEED) 1000 | 100.0 96.4 18 18 7.1 - - 18 54 A 107 36 36 213
R - B 54 37 37 - 1 1 1 - - 1 1 3 1 - 17
1000 1000| 1000 - 27 27 27 - - 27 27 81 27 - 315
EX BT 68 57 55 - 8 8 7 - - 2 3 10 2 1 1
1000 1000 965 - 140 140 123 - - 35 53 115 35 18 162
Lrilie] 21 10 8 - - - - - - - - - - 2 1
(BB# . —H%) 1000 1000 80.0 - - - - - - - - - - 200 524
a3 A 195 124 119 3 11 5 9 1 3 3 8 23 7 1 !
(ABE - ") 1000 | 100.0 96.0 24 8.9 40 13 08 24 24 65 185 56 08 36.4
i 2 21 20 - 1 - 2 - - 2 - 1 - - 7
1000 1000 952 - 48 - 95 - - 95 - 48 - -l 250
[ a0 5 3 3 - - 2 1 - - - - 1 - - 2
1000 1000|1000 - -l 667 333 - - - - 33 - - 400
FIVRI - A 1 1 1 - - - - - - - - - - - -
1000 1000|1000 - - - - - - - - - - - -
ZOfhBEE 92 53 53 1 6 3 1 1 2 3 3 10 2 1 39
1000 1000|1000 19 113 57 19 19 38 57 57 189 38 19 424
il - - - - - - - - - - - - - - -
kb 626 398 387 6 31 15 18 4 4 15 14 54 10 8 228
E 1000 1000 972 15 18 38 45 10 10 38 35 136 25 20 364
B {PEE 194 143 139 3 12 13 7 - 1 5 13 19 5 1 51
[ 1000 1000 972 21 84 9.1 49 - 07 35 9.1 133 35 07 263
A |R B 20 15 15 - - 2 2 - 2 1 3 6 1 - 5
1000 1000| 1000 - - 133 133 - 133 67 200 400 67 5| 250
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1-2. hEELEDFEEIZDONT
@ XEWmETEATWS A [BELE] (EH#HEZE)

LB EAREH () . TE: HEk (%)

DR | ADEE [ WA % | BESE | RELE | BRAN | ==X | 7TV 8 | RERRE | WAt [ ERo | KiER | EE6s | fo | AW
n Vo RoAT | BE|ELEE | BE0T | O | ~o4 v | BE R | RERE | EYRA
VA BEY | & tvia| M EF N
7
i 840 459 335 68 167 20 67 5 58 16 30 62 18 11 381
1000 1000 730 148 36.4 59 146 120 126 100 65 135 39 24 454
¥|fd - BAEMT 71 35 26 2 9 3 4 3 3 3 3 1 - - 36
i 1000 1000 743 57 257 86 14 86 86 86 86 29 - -l 507
il e 8 2 - - 1 - - - - - - 1 - 1 6
(B - e - fLo7 i) 1000 1000 - 5| 500 - - - - - - 500 - 500f 750
Kl - A R 3 2 1 - 2 - 1 - 1 - - - - - 1
1000 1000 50.0 -l 1000 -l 500 -l 500 - - - - - 383
Kb AEE (FR A 1 1 1 - - - - - - - - - - - -
VT TEEER) 1000 1000 1000 - - - - - - - - - - - -
FR AT ) THE 3 2 2 1 - - - - - - - E - - 1
1000 1000 1000 50.0 - - - - - - . - - - 383
e ST 3 1 1 - - - - - - - - - - - 2
1000 1000 1000 - - - - - - - - - - -l 667
LES, BRES 68 12 31 8 16 2 5 5 5 3 2 5 3 - 2
1000 1000 738 190 38.1 48 119 119 119 11 48 119 71 - 382
TTAFy 7 ik 20 9 5 2 4 1 1 1 1 1 1 2 1 - 1
1000 1000 556 222 444 1.1 11 1.1 1.1 111 1.1 222 1.1 -l 550
FH 10 1 1 - - - - - - - - - - - 9
1000 1000 1000 - - - - - - - - - - -l 900
RN T 17 10 7 1 5 - 2 2 2 3 1 - - - 7
1000 1000 700 100 50.0 -l 200 200 200 30.0 100 - - -l 42
kE R 14 4 4 - 1 - - - - - - 1 - - 10
1000 1000 1000 - 250 - - - - - - 250 - -l 714
sl 31 18 13 5 5 1 1 1 - 1 1 3 1 1 13
(fEERE ED) 1000 1000 722 218 2718 56 222 56 - 56 56 167 56 56 49
AR 16 8 5 1 2 1 1 1 1 1 1 2 1 1 8
1000 1000 625 125 250 125 125 125 125 125 125 250 125 125 50.0
SRR 3 15 10 1 6 2 1 2 - 2 - 2 - - 19
(Ay*MLERD) 1000 1000 66.7 6.7 400 133 267 133 - 133 - 133 - - 55.9
— Ik 7 47 32 10 16 1 3 3 5 3 2 3 1 1 30
(&1 - BHIAZED) 1000 1000 6.1 213 340 21 64 64 106 64 43 64 21 21 39.0
BRI - E A 54 32 23 3 14 1 1 9 11 8 6 4 2 - 2
1000 1000 719 94 438 125 125 28.1 344 250 188 125 6.3 -l 407
EX B 68 16 34 6 16 6 8 10 9 5 2 15 - 3 2
1000 1000 739 130 348 130 174 217 196 109 43 326 - 65 324
Wik R 21 11 10 3 1 1 1 3 1 3 1 2 1 1 10
(BB - —HH) 1000 1000 90.9 213 364 9.1 364 213 36.4 213 9.1 18.2 9.1 9.1 476
Lpili st 195 118 93 20 16 3 19 13 12 7 6 14 7 2 77
(B®H - “HH) 1000 1000 78.8 169 39.0 25 16.1 110 102 59 5.1 119 59 17 395
lifdi 2 28 11 8 2 3 1 3 1 - 1 - - - - 17
1000 1000 721 182 2713 9.1 2713 9.1 - 9.1 - - - -l 607
4 5 2 2 - - - - - - - - - - - 3
1000 1000 1000 - - - - - - - - - - - 600
FIRL - it 1 1 1 - - - 1 - 1 - - - - - -
1000 1000 1000 - - -| 1000 -| 1000 - - - - - -
ZoMREE 92 41 2% 3 7 1 3 1 3 5 4 7 1 1 51
1000 1000 61.0 13 45 24 13 24 13 122 98 111 24 24 554
kb 626 337 254 19 114 19 m 45 16 3 1 145 14 9 289
E 1000 1000 754 145 338 56 131 134 136 104 50 134 42 27 462
B E% 194 110 73 18 50 8 19 8 11 10 10 14 3 2 84
# 1000 1000 66.4 164 455 13 113 13 100 9.1 9.1 127 27 18 433
AR5 20 12 8 1 3 - 4 2 1 1 3 3 1 - 8
1000 1000 66.7 83 250 - 33 167 83 83 250 250 83 -l 400
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12 thE EDFEEIZDNT
@ *(EHBTEATLSA KELE) (EHEIZ)

LB EARES () . FB ML (%)

BE | AOEE | WAL | WERE | REL | SRS | 2-R | 7TV R | KEER | BEAK | KER0 | KEER | ERNR | 2o | KB
» W koA | BE [ELEE|[WE0) | OFF | ~04 v | B R | RERYE [ EVXR
VA aEy | x& tvrq | L322
7

w5 840 617 163 98 252 212 160 197 168 115 164 140 7 20 223
1000 1000 26.4 159 408 344 259 319 212 186 266 27 125 32 265

KRR - RAENT 71 19 13 5 16 15 10 19 11 8 16 13 3 1 22
i 1000 1000 26.5 102 327 306 204 388 224 163 327 265 6.1 20 310
Al | 8 7 3 1 1 2 2 1 2 1 - 1 1 1 1
(ks - #e - At 1000 100.0 429 143 143 2.6 28.6 143 28.6 143 - 143 143 143 125
KR - SR 3 3 - 1 2 - 1 1 - - 2 2 - - -
1000 1000 - 333 66.7 - 383 333 - -l 667 66.7 - - -

Kb ARG (FR A 1 1 - - - - - 1 - - - - - - -
VT TEEERR) 1000 1000 - - - - -l 1000 - - - - - - -
FR AT TR 3 3 - - 1 2 2 2 1 1 3 1 - - -
1000 1000 - - 333 66.7 66.7 66.7 333 333 | 1000 333 - - -

E v 3 2 1 1 - - - - 1 - - 2 - - 1
1000 1000 50.0 50.0 - - - - 500 - -l 1000 - - 83

bEE, AWEL 68 60 15 15 30 16 1 18 1 12 12 16 8 1 8
1000 1000 250 250 50.0 26.7 183 30.0 233 200 200 26.7 133 17 118

TTAFy 7 i 20 14 2 3 4 4 1 3 2 2 3 1 1 - 6
1000 1000 143 214 286 286 11 214 143 143 214 11 Al - 300

34 10 6 3 - - 1 1 1 3 3 3 1 - 1 4
1000 1000 50.0 - - 167 167 167 50.0 50.0 50.0 167 - 16.7 400

L8y 17 13 6 5 5 5 3 5 3 2 4 3 2 - 4
1000 1000 46.2 385 385 385 23.1 385 23.1 154 308 23.1 154 -l 235

ks R 14 7 1 - 4 1 - 2 2 1 3 2 1 - 7
1000 1000 143 - s 143 -l 286 286 143 429 286 143 -l 500

s 31 19 10 2 10 6 1 1 3 2 6 8 1 - 12
(BT ED) 1000 1000 526 105 526 316 21.1 21.1 158 105 316 421 53 - 387
FHR 16 13 q - 6 6 4 2 1 1 6 4 2 1 3
1000 1000 308 -l 462 462 308 154 308 17 462 308 154 17 188

SRR 3 21 5 1 9 3 1 3 1 3 2 2 2 1 13
(Fy¥MIza) 1000 1000 238 48 429 143 48 143 190 143 95 95 95 48 382

— B 7 62 18 15 26 29 20 23 18 13 22 9 3 1 15
(1 - R TAZAT) 1000 1000 29.0 242 419 468 323 37.1 29.0 210 355 145 48 16 195
BRI - B 54 42 12 8 15 19 17 18 16 8 10 7 8 - 12
1000 1000 286 190 357 452 405 429 38.1 190 238 167 190 -l 222

EX EFHS 68 51 7 6 21 20 17 20 15 9 14 9 8 3 17
1000 1000 137 118 412 39.2 333 39.2 294 116 215 116 157 59 250

Lrilie] 21 18 4 1 6 9 6 6 5 9 3 3 2 2 3
(BB# . —&) 1000 1000 2.2 56 333 50.0 333 333 218 50.0 16.7 16.7 11.1 11.1 143
Lrilis3t) 195 131 10 16 55 36 31 32 26 19 2 33 15 5 64
(BBE - “HH) 1000 100.0 305 122 420 215 237 24 198 145 21.4 252 115 38 328
lifdi 1 28 17 1 4 6 8 6 9 8 3 6 4 5 1 11
1000 1000 59 235 353 411 353 529 471 116 353 235 294 59 39.3

e 5 q - 3 2 2 3 2 2 1 2 - - - 1
1000 1000 -l 750 50.0 50.0 750 50.0 50.0 250 50.0 - - - 200

FIRL - 1 1 - - - 1 - 1 1 1 - - - - -
1000 1000 - - -l 1000 -l 1000| 1000|1000 - - - - -

ZOfhBEE 92 73 18 11 33 21 20 24 21 16 19 19 15 2 19
1000 1000 247 151 452 370 274 329 310 219 260 260 205 27 207

il - - - - - - - - - - - - - - B
kb 626 470 128 Tl 208 165 120 152 17 86 129 112 61 18 156
E 1000 1000 212 151 43 35.1 255 323 249 183 274 238 130 38 249
A LN 194 132 33 29 10 12 38 12 4 23 33 24 16 1 62
i 1000 1000 250 182 303 318 288 318 34.1 212 250 182 12.1 08 320
AR B 20 15 2 3 4 5 2 3 6 1 2 4 - 1 5
1000 1000 133 200 267 333 133 200 400 67 133 267 - 67 250
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12 tE EDHEIZDNT

@

RKEMTZTEBATLS R [BUNER] (EHEE)

LB MERER ()

B R (%)

Bt [HDEE | ST | RERR [ RELME | SRR | =X | 7TV R B | RER | RERO | KEER | BR[| 2ot | AR
w W BORT | BE|ELEE | BE0) | OFA [ ~04 | HiR, B | RERE | EYRA
VA MIED | $& tviq| EFN
7
% 840 4“7 67 165 173 9 113 176 78 34 4" 56 3 15 393
1000] 1000 150 369 387 213 253 394 174 16 98 125 12 34 468
%R BRAENT 1 25 2 5 7 3 9 13 6 2 3 4 1 1 146
fi 1000 1000 80 200 280 120 360 520 240 80 120 160 40 40 648
il |k 8 5 1 - 1 1 2 - - 1 - 1 - 1 3
(it - 4 - L) 1000 1000 200 . 200 200 400 . - 200 - 200 - 200 315
R - MR 3 3 - 1 1 - - 2 2 - - - - - -
1000] 1000 - 33 333 - -l 667 66.7 - - - - - -
Kb ABE (RE A 1 1 - - - 1 1 1 - - - - - - -
V7 T BEERC) 1000 1000 - . -| 1000 1000 1000 - - - - - - -
FRAVT)THE 3 3 - 2 1 1 1 p 1 E - 1 - E -
1000] 1000 -l 667 333 333 333 66.7 333 - -l 33 - - -
e AV 3 1 1 1 - - - - - - - 1 - - 2
1000 1000| 1000 1000 - - - - - - -l 1000 - - 667
fef, AlEE 68 12 6 17 17 9 6 14 7 - 3 4 4 1 2
1000] 1000 143 405 405 214 143 333 16.7 - Al 95 95 24 382
TIAF v ) B 20 11 1 5 1 3 5 2 1 - - - - - 9
1000] 1000 91 455 91 213 455 182 91 - - - - -l 450
2 ) 10 6 2 1 2 1 1 1 3 3 3 1 1 - 4
1000] 1000 333 167 333 16.7 16.7 167 500 500 500 167 167 -l 400
LRy i) 17 11 3 3 5 4 3 3 - 2 1 - 1 - 6
1000 1000 213 273 455 36.4 213 2713 -l182 9.1 - 9.1 -l 383
k& W) 14 3 - B 2 1 - 1 - - - 1 - - 11
1000] 1000 - - 66T 333 - 33 - - - 33 - -l 786
3] 31 11 3 1 6 1 2 3 - - 3 2 1 1 20
(EREED) 1000 1000 213 36.4 545 91 182 213 - -l 213 182 91 91 645
HHEE 16 6 1 2 1 1 1 1 - - - 2 - - 10
1000] 1000 16.7 333 16.7 16.7 16.7 167 - - - 33 - - 625
SRR 3 12 1 7 5 1 2 2 1 - - - - 1 22
(Ao EMLERD) 1000] 1000 83 583 417 83 167 167 83 - - . - 83 64.7
— ik 7 Iy 6 25 19 18 15 26 9 7 6 5 5 1 30
(B5 - BRIEXED) 1000 1000 128 53.2 404 38.3 319 55.3 19.1 149 128 106 106 21 39.0
BRI - B S 54 3 6 10 13 8 12 16 9 2 1 3 2 1 20
1000 1000 116 294 382 235 353 471 265 59 118 88 59 29 310
BR AL 68 32 3 8 16 10 11 12 8 2 2 2 1 3 36
1000] 1000 94 250 500 313 344 315 250 63 63 63 31 94 529
ik I 21 1 1 7 6 1 3 9 3 - 1 2 1 - 7
(BHE - &) 1000 1000 11 500 429 71 214 64.3 214 - 71 143 Al - 333
ik AR & 195 110 19 142 16 17 23 37 9 8 9 13 8 4 85
(HHE - ") 1000 1000 113 38.2 418 155 209 336 8.2 13 82 118 13 36 436
b 28 21 1 9 7 5 6 1 6 1 2 4 2 - 7
1000 1000 190 429 333 238 286 524 286 48 95 190 95 -l 250
ERHS 5 2 - 2 1 2 1 - - 1 - - - - 3
1000] 1000 -| 1000 500 1000 500 - -l 500 - - - -l 600
FIRL -t 1 1 - - - - - 1 - - - - - - -
1000] 1000 - . - - -l 1000 - - - . - - -
0% 92 16 7 14 16 7 9 19 13 5 7 10 5 1 14
1000] 1000 152 304 348 15.2 196 413 283 109 152 217 109 22 500
N 626 342 54 121 137 3 84 136 54 % 36 m 23 13 284
¥ 1000 1000 158 371 40.1 213 246 398 158 13 105 129 67 38 454
B 194 98 13 35 3 2 27 39 2 6 7 12 8 2 96
# 1000 1000 133 357 347 24 216 398 224 6.1 A 122 82 20 495
A{RH 2 7 - 3 2 - 2 1 2 3 1 - 1 - 13
1000 1000 -l 49 286 - 286 143 286 429 143 - 143 -l 650
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8-1.2010 F LK L =156, 2011 FORBEIRENEL

BB MRS (H)

TR MR (%)

&t AohEZ | A | By | AERR | A3

Y 840 824 351 370 103 16
100.0 100.0 42.6 44.9 12.5 1.9
¥\ - RBKEMT 71 70 29 30 11 1
fill 100.0 100.0 41.4 42.9 15.7 1.4
B | #lkdE 8 8 4 2 2 -
G - ki - AL rkik) 100.0 100.0 50.0 25.0 25.0 -
PR - A B 3 3 1 2 - -
100.0 100.0 33.3 66.7 - -
AW - ARG (RH - A 1 1 - 1 - -
T TR ERLS) 100.0 100.0 - 100.0 - -
FH A T ) TR 3 3 1 2 - -
100.0 100.0 33.3 66.7 - -
1AV 24 3 3 2 1 - -
100.0 100.0 66.7 33.3 - -
(B2 dh . il 68 68 31 33 4 -
100.0 100.0 45.6 48.5 5.9 -
T AF v 7 B 20 20 11 6 3 -
100.0 100.0 55.0 30.0 15.0 -
=B 10 9 1 4 4 1
100.0 100.0 1.1 44.4 44.4 10.0
= 4 17 16 5 8 3 1
100.0 100.0 31.3 50.0 18.8 5.9
BE- LT 14 13 3 7 3 1
100.0 100.0 23.1 53.8 23.1 7.1
E73] 31 30 16 12 2 1
(P88 Is fn & & 12) 100.0 100.0 53.3 40.0 6.7 32
Bl 16 15 7 8 - 1
100.0 100.0 46.7 53.3 - 6.3
& Jm B 34 33 17 13 3 1
(A v XML EET) 100.0 100.0 51.5 39.4 9.1 2.9
— Rk bk 77 76 35 37 4 1
(&7 - T B & &) 100.0 100.0 46.1 48.7 5.3 1.3
B - B 54 53 19 28 6 1
100.0 100.0 35.8 52.8 11.3 1.9
E - B 68 68 23 37 8 -
100.0 100.0 33.8 54.4 11.8 -
i 0% A 2 21 20 9 5 6 1
(A B - i) 100.0 100.0 45.0 25.0 30.0 48
i 32 FF B AR 195 193 97 65 31 2
(A EhH - g 100.0 100.0 50.3 33.7 16.1 1.0
O B R 28 27 12 13 2 1
100.0 100.0 44.4 48.1 7.4 3.6
5 97 e 2 5 5 2 2 1 -
100.0 100.0 40.0 40.0 20.0 -
FIRI - HRR 1 1 - 1 - -
100.0 100.0 - 100.0 - -
Z O fih B ¥ 92 89 26 53 10 3
100.0 100.0 29.2 59.6 11.2 3.3

B - - - - -
PN S 626 615 267 273 75 11
% 100.0 100.0 43.4 44.4 12.2 1.8
B2 194 189 75 88 26 5
i 100.0 100.0 39.7 46.6 13.8 2.6
B | R B 20 20 9 9 2 -
100.0 100.0 45.0 45.0 10.0 -
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9-1.2011 EDHRFEHREDEH (EHEZE)

LB Y (B 0 B #EEE (%)

GEt | AMEE | LHOME | THOA | B LY | S - B | BRI | ki | 2o AR
iR FAL-ghE | RN | ZEPHESR | GRER | #kic
Ak OB Ak - & BH2AD | Loreh%E
i o 1y Hilds 7 & (4
i - T A Hrxk
i) aie)
W 840 750 140 525 52 149 85 139 50 90
100.0 100.0 18.7 70.0 6.9 19.9 11.3 18.5 6.7 10.7
¥/ - BEARPEMT 71 63 14 52 3 11 11 9 4 8
fili 100.0 100.0 22.2 82.5 4.8 17.5 17.5 14.3 6.3 11.3
B | WA 8 7 1 6 - 1 1 1 - 1
G - #d - AL HkiE) 100.0 100.0 14.3 85.7 - 14.3 14.3 14.3 - 125
AR - WAME R 3 3 - - - 1 - 2 1 -
100.0 100.0 - - - 33.3 - 66.7 33.3 -
Kb - R (R - A 1 1 - 1 - 1 - - - -
TN TR ERLS) 100.0 100.0 - 100.0 - 100.0 - - - -
FH AT ) TR 3 2 - 1 - - - - 1 1
100.0 100.0 - 50.0 - - - - 50.0 33.3
W ST 3 2 - 2 - - - - - 1
100.0 100.0 - 100.0 - - - - - 33.3
L= I i T 68 65 18 44 6 22 8 12 4 3
100.0 100.0 27.7 67.7 9.2 33.8 12.3 18.5 6.2 4.4
TTAF B 20 18 3 13 2 1 2 2 1 2
100.0 100.0 16.7 72.2 1.1 5.6 1.1 1.1 5.6 10.0
22 38 fh 10 7 1 4 - 3 - - - 3
100.0 100.0 14.3 57.1 - 42.9 - - - 30.0
= A 17 15 2 11 - 2 2 - 2 2
100.0 100.0 13.3 73.3 - 13.3 13.3 - 13.3 11.8
it o] 14 11 3 7 - 1 1 2 - 3
100.0 100.0 27.3 63.6 - 9.1 9.1 18.2 - 21.4
F7S 31 29 7 21 2 3 1 4 2 2
(Pt &) 100.0 100.0 24.1 72.4 6.9 10.3 3.4 13.8 6.9 6.5
Ela 7 16 15 1 11 - 3 6 3 2 1
100.0 100.0 6.7 73.3 - 20.0 40.0 20.0 13.3 6.3
4B R 34 31 11 26 2 4 2 - - 3
(A v ¥ ML EE) 100.0 100.0 35.5 83.9 6.5 12.9 6.5 - - 8.8
— R bk 77 67 10 45 9 11 6 17 2 10
(&7 - BT 2% &) 100.0 100.0 14.9 67.2 13.4 16.4 9.0 25.4 3.0 13.0
BRI - PR 54 48 7 28 3 17 6 18 1 6
100.0 100.0 14.6 58.3 6.3 35.4 12.5 37.5 2.1 11.1
B B HEA 68 57 11 28 3 15 5 20 3 11
100.0 100.0 19.3 49.1 5.3 26.3 8.8 35.1 5.3 16.2
i 2% FA B 2 21 18 2 8 1 4 3 4 5 3
(BB H - ) 100.0 100.0 11.1 44.4 5.6 22.2 16.7 22.2 27.8 14.3
g 2% B 35 350 195 183 31 159 13 18 16 13 17 12
(A @) - ) 100.0 100.0 16.9 86.9 7.1 9.8 8.7 7.1 9.3 6.2
i B 28 23 5 10 2 7 2 8 - 5
100.0 100.0 21.7 435 8.7 30.4 8.7 34.8 - 17.9
=3t 5 5 2 1 - 2 - 2 - -
100.0 100.0 40.0 20.0 - 40.0 - 40.0 - -
FILR + AR 1 1 - 1 - - - - - -
100.0 100.0 - 100.0 - - - - - -
Z O fih i ¥ 92 79 11 46 6 22 13 22 5 13
100.0 100.0 13.9 58.2 7.6 27.8 16.5 278 6.3 14.1
RH - - - - - - - - - -
PN 626 577 111 410 37 110 67 116 38 49
E 3 100.0 100.0 19.2 71.1 6.4 19.1 11.6 20.1 6.6 7.8
PN E 194 159 25 104 13 37 16 21 11 35
i 100.0 100.0 15.7 65.4 8.2 23.3 10.1 13.2 6.9 18.0
GINENG] 20 14 4 11 2 2 2 2 1 6
100.0 100.0 28.6 78.6 14.3 14.3 14.3 14.3 7.1 30.0
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10-1. NAFTA o2& %5 &Il D F) F 4R

dhF+4

BB AR ()

TB Mk (%)

i A
ARt [ AShEE (R LT | ARER | FURLC | AP | AHEE | RIHLT | REER | RIHLT] R
w5 GEd (A% w5 G (A%
(P& (FE%
L) L)
W 840 7117 188 79 450 123 653 69 72 512 187
100.0 100.0 26.2 11.0 62.8 14.6 100.0 10.6 11.0 78.4 223
3R BKFEM T 71 66 19 4 13 5 62 6 6 50 9
il 100.0 100.0 28.8 6.1 65.2 7.0 100.0 9.7 9.7 80.6 12.7
] e 8 6 3 - 3 2 6 1 1 4 2
(Bh# - k4 - AL -FilkE) 100.0 100.0 50.0 - 50.0 25.0 100.0 16.7 16.7 66.7 25.0
TR - ke 3 2 - 1 1 1 1 - - 1 2
100.0 100.0 - 50.0 50.0 33.3 100.0 - - 100.0 66.7
A - REG (FE - A 1 1 - - 1 - 1 - - 1 -
VT Y TR ERRL) 100.0 100.0 - - 100.0 - 100.0 - - 100.0 -
FHRAUT YT E 3 3 1 - 2 - 2 - - 2 1
100.0 100.0 33.3 - 66.7 - 100.0 - - 100.0 333
LA 3 2 - - 2 1 3 - - 3 -
100.0 100.0 - - 100.0 33.3 100.0 - - 100.0 -
(L2, A 68 61 16 7 38 7 57 4 8 45 11
100.0 100.0 26.2 1.5 62.3 10.3 100.0 7.0 14.0 78.9 16.2
75 AF 20 16 6 2 8 4 14 - 1 13 6
100.0 100.0 375 125 50.0 20.0 100.0 - 71 92.9 30.0
= 10 6 - 3 3 4 6 - 1 5 4
100.0 100.0 - 50.0 50.0 40.0 100.0 - 16.7 83.3 40.0
EFN ) 17 14 5 3 6 3 11 3 2 6 6
100.0 100.0 35.7 21.4 429 17.6 100.0 273 18.2 54.5 35.3
Z¥ - A 14 12 1 4 7 2 13 1 4 8 1
100.0 100.0 8.3 33.3 58.3 14.3 100.0 7.7 308 61.5 7.1
f] 31 23 4 5 14 8 21 1 3 17 10
($hsfE Mz B t) 100.0 100.0 174 21.7 60.9 25.8 100.0 4.8 14.3 81.0 32.3
E7 oy 16 16 2 2 12 - 12 - - 12 4
100.0 100.0 12.5 125 75.0 - 100.0 - - 100.0 25.0
E=E 34 31 6 4 21 3 26 - 5 21 8
(A FMTZEET) 100.0 100.0 19.4 12.9 67.7 8.8 100.0 - 19.2 80.8 235
— i B Ak 77 70 20 8 42 7 63 3 4 56 14
(& - HW TR % &) 100.0 100.0 28.6 11.4 60.0 9.1 100.0 48 6.3 88.9 18.2
B - R 54 49 12 4 33 5 15 2 3 40 9
100.0 100.0 24.5 8.2 67.3 9.3 100.0 4.4 6.7 88.9 16.7
ER - BT 68 60 14 9 37 8 54 4 9 41 14
100.0 100.0 23.3 15.0 61.7 11.8 100.0 7.4 16.7 75.9 20.6
i % T B 25 21 16 10 1 5 5 15 8 1 6 6
(BB H - ") 100.0 100.0 62.5 6.3 31.3 23.8 100.0 53.3 6.7 40.0 28.6
0% PR 25 50 8 195 154 16 1 104 41 141 28 6 107 54
(BB - Zig) 100.0 100.0 29.9 2.6 67.5 21.0 100.0 19.9 4.3 75.9 27.7
bkt 28 25 4 5 16 3 25 1 4 20 3
100.0 100.0 16.0 20.0 64.0 10.7 100.0 4.0 16.0 80.0 10.7
B R 5 5 1 2 2 - 4 1 1 2 1
100.0 100.0 20.0 40.0 40.0 - 100.0 25.0 25.0 50.0 20.0
IR - AR 1 1 - - 1 - 1 - - 1 -
100.0 100.0 - - 100.0 - 100.0 - - 100.0 -
Z O B3 92 78 18 11 419 14 70 6 13 51 22
100.0 100.0 23.1 14.1 62.8 15.2 100.0 8.6 18.6 72.9 239
R - - - - - - - - - - -
f | K% 626 534 153 60 321 92 480 57 54 369 146
% 100.0 100.0 28.7 1.2 60.1 14.7 100.0 11.9 1.3 76.9 233
B 194 167 31 18 118 27 157 9 17 131 37
i 100.0 100.0 18.6 10.8 70.7 13.9 100.0 5.7 10.8 83.4 19.1
U] 20 16 4 1 11 4 16 3 1 12 4
100.0 100.0 25.0 6.3 68.8 20.0 100.0 18.8 6.3 75.0 20.0
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10-1. NAFTA o2& %5 &Il D F) F 4R

AFS O
EB o AR () . FB MR (%)
i A
ARt [ AShEE (R LT | ARER | FURLC | AP | AHEE | RIHLT | REER | RIHLT] R
w5 GEd (A% w5 G (A%
(P& (FE%
L) L)

W 840 725 183 87 455 115 669 102 88 479 171
100.0 100.0 25.2 12.0 62.8 13.7 100.0 15.2 13.2 71.6 20.4
3R BKFEM T 71 66 11 7 48 5 61 4 5 52 10
il 100.0 100.0 16.7 10.6 72.7 7.0 100.0 6.6 8.2 85.2 14.1
Il |k 8 6 2 - 4 2 6 2 - 4 2
(Bh# - k4 - AL -FilkE) 100.0 100.0 33.3 - 66.7 25.0 100.0 33.3 - 66.7 25.0
TR - ke 3 2 - 1 1 1 1 - - 1 2
100.0 100.0 - 50.0 50.0 33.3 100.0 - - 100.0 66.7
A - REG (FE - A 1 1 - - 1 - 1 - - 1 -
VT Y TR ERRL) 100.0 100.0 - - 100.0 - 100.0 - - 100.0 -
FHRAUT YT E 3 2 - - 2 1 3 - 1 2 -
100.0 100.0 - - 100.0 33.3 100.0 - 33.3 66.7 -
LA 3 2 - - 2 1 3 - - 3 -
100.0 100.0 - - 100.0 33.3 100.0 - - 100.0 -
(b, AR 68 61 18 4 39 7 58 8 7 43 10
100.0 100.0 295 6.6 63.9 10.3 100.0 13.8 12.1 74.1 14.7
75 AF 20 18 9 2 7 2 16 3 2 11 4
100.0 100.0 50.0 11.1 38.9 10.0 100.0 18.8 125 68.8 20.0
= 10 6 1 3 2 4 6 - 1 5 4
100.0 100.0 16.7 50.0 33.3 40.0 100.0 - 16.7 83.3 40.0
EFN ) 17 13 5 3 5 4 12 2 4 6 5
100.0 100.0 38.5 23.1 38.5 235 100.0 16.7 33.3 50.0 29.4
Z¥ - A 14 12 1 4 7 2 13 1 4 8 1
100.0 100.0 8.3 33.3 58.3 14.3 100.0 7.7 308 61.5 7.1
f] 31 23 4 5 14 8 22 2 3 17 9
($hsfE Mz B t) 100.0 100.0 174 21.7 60.9 25.8 100.0 9.1 13.6 773 29.0
E7 oy 16 16 2 2 12 - 12 1 - 11 4
100.0 100.0 12.5 125 75.0 - 100.0 8.3 - 91.7 25.0
E=E 34 32 6 4 22 2 26 1 6 19 8
(A FMTZEET) 100.0 100.0 18.8 125 68.8 5.9 100.0 3.8 23.1 73.1 235
— i B Ak 77 69 19 6 44 8 66 7 7 52 11
(& - HW TR % &) 100.0 100.0 275 8.7 63.8 10.4 100.0 10.6 10.6 78.8 14.3
B - R 54 49 6 5 38 5 16 6 3 37 8
100.0 100.0 12.2 10.2 77.6 9.3 100.0 13.0 6.5 80.4 14.8
ER - BT 68 62 16 12 34 6 58 13 11 34 10
100.0 100.0 25.8 19.4 54.8 8.8 100.0 224 19.0 58.6 14.7
i % T B 25 21 16 9 2 5 5 15 7 2 6 6
(BB H - ") 100.0 100.0 56.3 125 31.3 23.8 100.0 46.7 13.3 40.0 28.6
0% PR 25 50 8 195 160 53 10 97 35 145 10 17 88 50
(BB - Zig) 100.0 100.0 33.1 6.3 60.6 17.9 100.0 27.6 11.7 60.7 25.6
bkt 28 26 4 5 17 2 25 1 4 20 3
100.0 100.0 15.4 19.2 65.4 7.1 100.0 4.0 16.0 80.0 10.7
B R 5 5 - 2 3 - 4 - 1 3 1
100.0 100.0 - 40.0 60.0 - 100.0 - 25.0 75.0 20.0
IR - AR 1 1 - - 1 - 1 - - 1 -
100.0 100.0 - - 100.0 - 100.0 - - 100.0 -
Z O B3 92 77 17 10 50 15 69 4 10 55 23
100.0 100.0 22.1 13.0 64.9 16.3 100.0 58 14.5 79.7 25.0
R - - - - - - - - - - -
f | K% 626 531 142 64 325 95 490 83 64 343 136
% 100.0 100.0 26.7 12.1 61.2 15.2 100.0 16.9 13.1 70.0 21.7
B 194 177 38 21 118 17 162 18 22 122 32
i 8 100.0 100.0 215 11.9 66.7 8.8 100.0 1.1 13.6 75.3 16.5
U] 20 17 3 2 12 3 17 1 2 14 3
100.0 100.0 17.6 11.8 70.6 15.0 100.0 5.9 11.8 82.4 15.0
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-1 REAKREX

[CKDEE~ADEE

BB M () . FB o Rk (%)
Gk FNEE | AR5 | BIIREE | o T !
BN [ BRH- | (220
7= (& 7= (&
%) %)

Y-8 840 834 280 346 208 6
100.0 100.0 33.6 41.5 24.9 0.7
¥ (A - BRKPEM T 71 70 4 35 31 1
il 100.0 100.0 5.7 50.0 44.3 1.4
1) [kt 8 8 4 2 2 -
GB - k4 - Ak 2FaikiE) 100.0 100.0 50.0 25.0 25.0 -
AR - A R 3 3 - 1 2 -
100.0 100.0 - 33.3 66.7 -
Kb - RBLEL (RE - A 1 1 - - 1 ,
TV TR ERRL) 100.0 100.0 = - 100.0 -
FH T ) TR 3 3 - 2 1 -
100.0 100.0 - 66.7 33.3 -
e LS 3 3 - 2 1 -
100.0 100.0 - 66.7 33.3 -
{50, A 68 68 8 38 22 -
100.0 100.0 11.8 55.9 32.4 -
I AF w7, 20 20 4 6 10 -
100.0 100.0 20.0 30.0 50.0 -
25 48 10 10 - 3 7 -
100.0 100.0 - 30.0 70.0 -
= A8 17 17 5 9 3 -
100.0 100.0 29.4 52.9 17.6 -
e I ] 14 13 1 5 7 1
100.0 100.0 7.7 38.5 53.8 7.1
k73] 31 30 10 10 10 1
($FeIE oL & G ) 100.0 100.0 33.3 33.3 33.3 3.2
ElS7Sd= 16 16 4 8 4 -
100.0 100.0 25.0 50.0 25.0 -
4 )& 34 34 14 14 6 -
(A v ML %EFTe) 100.0 100.0 41.2 41.2 17.6 -
— MR Ak 77 77 12 47 18 -
(A7 - Bk T H % &) 100.0 100.0 15.6 61.0 23.4 -
ERAMEK - TS 54 54 7 28 19 -
100.0 100.0 13.0 51.9 35.2 -
R - BB AL 68 68 19 35 14 -
100.0 100.0 27.9 51.5 20.6 -
i 1% I B 21 20 12 7 1 1
(HBhHL - i) 100.0 100.0 60.0 35.0 5.0 4.8
130 A 2505 195 193 151 34 8 2
(B ®hHE - ") 100.0 100.0 78.2 17.6 4.1 1.0
R R 28 28 7 11 10 -
100.0 100.0 25.0 39.3 35.7 -
52 IR A 2 5 5 - 4 1 -
100.0 100.0 - 80.0 20.0 -
FILRI + H AR 1 1 1 - - -
100.0 100.0 100.0 - - -
T O fh s 2 92 92 17 45 30 -
100.0 100.0 18.5 48.9 32.6 -
R - - - - - -
(PNTES 626 620 206 254 160 6
E 100.0 100.0 33.2 41.0 25.8 1.0

B e 194 194 70 83 41
i) 100.0 100.0 36.1 42.8 21.1 -
GIENC 20 20 4 9 7 -
100.0 100.0 20.0 45.0 35.0 -
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N-2. ErH-o1- (HD) FXEH

@ BER~ADHLHDER

BB RIS (RR) . TR AR e (%)

Atk R EIE=S Tk Hn AR
I 840 83 60 23 757
100.0 100.0 72.3 27.7 90.1
¥\ - BKPEI T 71 10 8 2 61
FE 100.0 100.0 80.0 20.0 85.9
GURE: 7 8 - - - 8
GEHft - fkd - Ak =2 ioE) 100.0 - - - 100.0
AR - Al R 3 1 1 - 2
100.0 100.0 100.0 - 66.7
KRB ARREEL (R - A 1 - - - 1
T U TGS AR L) 100.0 - - - 100.0
FH - AT U 7L, 3 - - - 3
100.0 - - - 100.0
WE - LS 3 1 - 1 2
100.0 100.0 - 100.0 66.7
RTINS i R 68 12 5 7 56
100.0 100.0 41.7 58.3 82.4
75 AT B, 20 - - - 20
100.0 - - - 100.0
25 32 i 10 1 1 - 9
100.0 100.0 100.0 - 90.0
= LG 17 3 2 1 14
100.0 100.0 66.7 33.3 82.4
i U S 14 2 2 - 12
100.0 100.0 100.0 - 85.7
&k 31 - - - 31
(55 838 oh & & i) 100.0 - - - 100.0
FEBR R 16 1 1 - 15
100.0 100.0 100.0 - 93.8
4 L 34 3 2 1 31
(A > FINL & FEe) 100.0 100.0 66.7 33.3 91.2
— s B Ak 77 5 3 2 72
(=7 - BEHR T 2 % & dr) 100.0 100.0 60.0 40.0 93.5
ER A - RS 54 3 2 1 51
100.0 100.0 66.7 33.3 94.4
EER - EE AL 68 3 2 1 65
100.0 100.0 66.7 33.3 95.6
i 3% FH B 2 21 - - - 21
CE By - i HE) 100.0 - - - 100.0
i 325 P B 2 350 i 195 16 14 2 179
(A EHE - dmE) 100.0 100.0 87.5 12.5 91.8
il 7 1 bk 28 1 - 1 27
100.0 100.0 - 100.0 96.4
|22 1 2 5 2 2 - 3
100.0 100.0 100.0 - 60.0
FI - H R 1 1 1 - -
100.0 100.0 100.0 - -
Z o> il B 3 92 18 14 4 74
100.0 100.0 77.8 22.2 80.4
] - - - - -
fix | KA 3 626 56 41 15 570
ES 100.0 100.0 73.2 26.8 91.1
ol AR 194 25 17 8 169
A 100.0 100.0 68.0 32.0 87.1
GIENCT] 20 2 2 - 18
100.0 100.0 100.0 - 90.0
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11-2. s2 2 HAR]

@ BHAAOHLHOER

RBC EERER ()

B MR (%)

i O B SO B
aFt [ BBEE [1~30 A [3~6r A (6 A~1 | VEDLE | FHIAT [ KRBT [ HREE [ 1~35 A | 3~64 A |67 A~1| VEDLE | FHAT | AH
Hili Kl | FERWE il Kili | R
B 840 60 27 17 4 2 10 780 23 10 8 4 1 - 817
1000 1000 450 283 67 33 167 929 1000 435 348 174 43 - 973
¥\R5 - BAENT 71 8 3 3 1 - 1 63 2 - 2 - - - 69
i 1000 1000 375 375 125 - 125 88.7| 1000 -| 1000 - - - 97.2
Al [k 8 - - - - - - 8 - - - - - - 8
(5% - it - 1Lk 100.0 - - - - - - 1000 - - - - - - 1000
KR - iR 3 1 - - - - 1 9 - - Z B _ - 3
1000 1000 - - - - 1000 66.7 - - - - - -l 1000
Kb REE (RE A 1 - - - - - - 1 - - - - - - 1
V7T EEERL) 100.0 - - - - - - 1000 - - - - - - 1000
FE ATV TR 3 - - - - - - 3 - - - - - - 3
100.0 - - - - - -l 1000 - - - - - - 1000
&AL T 3 - - - - - - 3 1 - 1 - - - 2
100.0 - - - - - -l 1000|1000 -| 1000 - - - 66.7
L6, AR 68 5 3 - - - 2 63 7 3 3 1 - - 61
1000 1000 60.0 - - - 400 926| 1000 429 429 143 - - 89.7
TTAF 7 Bk 20 - - - - - - 20 - - - - - - 20
100.0 - - - - - -l 1000 - - - - - - 1000
i 3 10 1 1 - - - - 9 - - - - - - 10
1000|  1000| 1000 - - - - 90.0 - - - - - - 1000
EFN 1 17 2 - 1 - - 1 15 1 1 - - - - 16
1000 1000 - 50.0 - - 50.0 882| 1000 1000 - - - - 94.1
ZE. 10 1 2 1 - - 1 - 12 - - - - - - 14
1000 1000 50.0 - - 50.0 - 85.7 - - - - - - 1000
IR 31 - - - - - - 31 - - - - - - 31
(i r aL) 100.0 - - - - - - 1000 - - - - - - 1000
E7y 16 1 - 1 - - - 15 - - - - - - 16
1000 1000 -l 1000 - - - 938 - - - - - - 1000
3 T 31 2 1 - - - 1 32 1 1 - - - - 33
Ay FMTzED) 1000 1000 50.0 - - - 50.0 94.1 1000 1000 - - - - 97.1
— 7 3 2 1 - - - 74 2 - 1 1 - - 75
(67 BRIEXED) 1000 | 100.0 66.7 333 - - - 96.1 100.0 - 50.0 50.0 - - 974
B - B RS 54 2 - 2 - - - 52 1 1 - - - - 53
1000 1000 - 1000 - - - 963| 1000 1000 - - - - 98.1
R BB 68 2 2 - - - - 66 1 - - 1 - - 67
1000|  1000| 1000 - - - - 97.1 100.0 - - 1000 - - 98.5
LRl 21 - - - - - - 21 - - - - - - 21
(ABhE - ") 100.0 - - - - - - 1000 - - - - - - 1000
LERSiL t 195 1 6 5 1 - 2 181 2 2 - - - - 193
(A8 - “#E) 100.0 100.0 429 357 Al - 143 928 1000 100.0 - - - - 99.0
e e 28 - - - - - - 28 1 1 - - - - 27
100.0 - - - - - - 1000| 1000|1000 - - - - 96.4
[ & 5 2 1 - 1 - - 3 - - - - - - 5
1000 1000 50.0 - 50.0 - - 60.0 - - - - - - 1000
FIUR « Hik 1 1 1 - - - - - - - - - - - 1
1000|  1000| 1000 - - - - - - - - - - - 1000
ZOfEEE 92 1 6 1 1 1 2 78 1 1 1 1 1 - 88
1000 1000 429 286 71 11 143 848| 1000 250 250 250 250 - 95.7
il - - - - - - - - - - - - - - -
[APR:ES 626 41 19 10 4 2 6 585 15 6 6 2 1 - 611
% 1000 1000 46.3 244 98 49 146 935| 1000 400 400 133 6.7 - 976
B ¥ 194 17 8 6 - - 3 177 8 1 2 2 - - 186
fi 1000 1000 411 353 - - 176 912 1000 50.0 25.0 250 - - 95.9
EIEN 20 2 - 1 - - 1 18 - - - - - - 20
1000 1000 - 50.0 - - 50.0 90.0 - - - - - - 1000
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N-2. ErH-o1- (HD) FXEH
BANSDIEAN - FIEDIZR

@

BB RIS (RR) . TR AR e (%)

Atk R EIE=S Tk Hn AR
fe e 840 365 358 7 475
100.0 100.0 98.1 1.9 56.5
¥\ - BKPEI T 71 19 19 52
FE 100.0 100.0 100.0 - 73.2
GURE: 7 8 2 2 - 6
GEHft - fkd - Ak =2 ioE) 100.0 100.0 100.0 - 75.0
AR - Al R 3 1 1 - 2
100.0 100.0 100.0 - 66.7
KRB ARREEL (R - A 1 - - - 1
T U TGS AR L) 100.0 - - - 100.0
FH - AT U 7L, 3 2 2 - 1
100.0 100.0 100.0 - 33.3
WE - LS 3 2 2 - 1
100.0 100.0 100.0 - 33.3
RTINS i R 68 27 26 41
100.0 100.0 96.3 3.7 60.3
7T AT v B 20 3 3 - 17
100.0 100.0 100.0 - 85.0
25 32 i 10 2 2 - 8
100.0 100.0 100.0 - 80.0
= LG 17 12 12 - 5
100.0 100.0 100.0 - 29.4
i U S 14 4 4 - 10
100.0 100.0 100.0 - 71.4
&k 31 3 3 - 28
(55 838 oh & & i) 100.0 100.0 100.0 - 90.3
FHe gk B 16 5 5 - 11
100.0 100.0 100.0 - 68.8
4 L 34 15 15 - 19
(A > XN L4 Fde) 100.0 100.0 100.0 - 55.9
— s B Ak 77 50 49 1 27
(7 - Bk T B A& &) 100.0 100.0 98.0 2.0 35.1
BRI - BT 54 28 28 - 26
100.0 100.0 100.0 - 48.1
EER - EE AL 68 34 32 2 34
100.0 100.0 94.1 5.9 50.0
i 3% FH B 2 21 13 12 1 8
CE By - i HE) 100.0 100.0 92.3 7.7 38.1
AT 2% P B 508 195 89 89 - 106
(A EHE - dmE) 100.0 100.0 100.0 - 54.4
il 7 1 bk 28 15 15 - 13
100.0 100.0 100.0 - 46.4
|22 1 2 5 2 2 - 3
100.0 100.0 100.0 - 60.0
FI - H R 1 1 1 - -
100.0 100.0 100.0 - -
Z o> il B 3 92 36 34 2 56
100.0 100.0 94.4 5.6 60.9
] - - - - -
fix | KA 3 626 277 271 6 349
ES 100.0 100.0 97.8 2.2 55.8
ol AR 194 81 80 1 113
A 100.0 100.0 98.8 1.2 58.2
GURENE] 20 7 7 - 13
100.0 100.0 100.0 - 65.0
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11-2. s2 2 HAR]

@ BAAMLDIEAN - FREDIER

RBC EARER ()

B MR (%)

BB O B IO K EHH
aFt |HBEE | 1~35 A | 3~65 B (67 A~1 | VEULE [ FHAT | A8 [BBEE | 1~37 A [3~64 7 |65 A~1| VESLE | TRIAT | B
Ki Kili | ERE Kil Kili | EARE
B 840 357 191 134 25 3 4 483 6 3 2 1 - - 834
1000 1000 535 315 70 08 1.1 575| 1000 50.0 333 167 - - 993
¥|fdh - BKEML T 19 10 4 5 - - 52 - - - - - - it
& 1000 1000 526 21.1 263 - - 732 - - - - - -| 1000
il | 8 2 1 1 - - - 6 - - - - - - 8
(B8 - 8 - (L) 1000 [ 1000 500 50.0 - - - 75.0 - - - - - - 1000
IR - B A 3 1 - - - - 1 2 - - - - - - 3
1000 1000 - - - -| 1000 66.7 - - - - - - 1000
AR ARG (FR A 1 - - - - - - 1 - - - - - - 1
VT T REER 100.0 - - - - - - 1000 - - - - - - 1000
FE A VT TR 3 2 2 - - - - 1 - - - - - - 3
1000 1000 1000 - - - -l 23 - - - - - -| 1000
LT 3 2 1 1 - - - 1 - - - - - - 3
1000 1000 500 50.0 - - -l %3 - - - - - -| 1000
L, AR 68 26 18 7 1 - - 42 1 1 - - - - 67
1000 1000 69.2 269 38 - -l 618 1000|1000 - - - - 985
75 AF v ) Wik 20 3 2 1 - - - 17 - - - - - - 20
1000 1000 66.7 333 - - - 850 - - - - - - 1000
3 10 2 2 - - - - 8 - - - - - - 10
1000 1000 1000 - - - -l 800 - - - - - -| 1000
EIN T 17 12 5 7 - - - 5 - - - - - - 17
1000 1000 417 56.3 - - - 204 - - - - - -l 1000
E ARV 14 4 3 1 - - - 10 - - - - - - 1"
1000 1000 750 250 - - - 14 - - - - - -| 1000
Bl 31 3 1 2 - - - 28 - - - - - - 31
(HEhzat) 1000 [ 1000 333 66.7 - - - 903 - - - - - - 1000
FHeE 16 5 2 3 - - - 11 - - - - - - 16
1000 1000 400 60.0 - - - 688 - - - - - - 1000
E3:13 34 15 9 5 - - 1 19 - - - - - - 34
(Ay¥MLEEE) 1000 1000 60.0 333 - - 6.7 559 - - - - - -| 1000
— B 7 18 30 12 5 1 - 29 1 - 1 - - - 76
(&1 BRIAXED) 1000 [ 1000 625 25.0 104 21 - 317 100.0 - 1000 - - - 98.7
B - TR 51 28 17 8 1 2 - 2% - - - - - - 54
1000 1000 60.7 286 36 7.1 -l 4t - - - - - -| 1000
EX  EFHM 68 32 16 14 1 - 1 36 2 2 - - - - 66
1000 1000 500 438 31 - 31 529| 1000|1000 - - - - 97.1
LIRSt = 21 12 5 5 2 - - 9 - - - - - - 21
(ABE - “HH) 1000 [ 1000 417 4.7 16.7 - - 429 - - - - - - 1000
134 P B A 195 89 143 41 5 - - 106 - - - - - - 195
(A8 - —fd) 100.0 100.0 483 46.1 56 - - 544 - - - - - - 1000
litdi g 28 15 10 3 2 - - 13 - - - - - - 2
1000 1000 66.7 200 133 - -l 464 - - - - - -| 1000
[R5 5 2 1 1 - - - 3 - - - - - - 5
1000 1000 50.0 50.0 - - -l 600 - - - - - -| 1000
FIR -+ iR 1 1 - - - - 1 - - - - - - - 1
1000 1000 - - - -| 1000 - - - - - - -| 1000
ZOffiE % 92 31 13 18 3 - - 58 2 - 1 1 - - 90
1000 1000 382 529 88 - - 630 1000 - 50.0 50.0 - - 978
[eyrNiES 626 270 143 105 18 3 1 356 5 3 2 - - - 621
% 1000 1000 53.0 38.9 6.7 11 04 59| 1000 60.0 400 - - - 99.2
| 194 80 4 26 6 - 3 114 1 - - 1 - - 193
L 1000 1000 56.3 325 15 - 38 588| 1000 - -| 1000 - - 995
B 20 7 3 3 1 - - 13 - - - - - - 20
1000 1000 429 429 143 - -l 650 - - - - - -l 1000
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N-2. ErH-o1- (HD) FXEH
W ERE - EANDIERE

®

BB A ((h) FBE MRk e (%)

Gt EEEICIES ek wm ENL]
S E 840 117 77 40 723
100.0 100.0 65.8 34.2 86.1
¥ A - BARZEI T 71 4 - 4 67
il 100.0 100.0 - 100.0 94.4
GURE::id 8 3 3 - 5
(Wi - Wi - AL SFRAE) 100.0 100.0 100.0 - 62.5
AR - Al R 3 1 - 1 2
100.0 100.0 - 100.0 66.7
KA - RS (KRR - o 1 - - - 1
T U TR ERL) 100.0 = = - 100.0
FH - AT TR, 3 - - - 3
100.0 - - - 100.0
W . oL 3 - - - 3
100.0 - - - 100.0
[T I i 68 8 5 3 60
100.0 100.0 62.5 37.5 88.2
T ATy s B, 20 2 2 - 18
100.0 100.0 100.0 - 90.0
=E 10 - - - 10
100.0 - - - 100.0
= 2B 17 5 3 2 12
100.0 100.0 60.0 40.0 70.6
¥ LA 14 - - - 14
100.0 - - - 100.0
e 5] 31 2 1 1 29
($h 880 dh & & de) 100.0 100.0 50.0 50.0 93.5
FH R 16 3 1 2 13
100.0 100.0 33.3 66.7 81.3
4 @ B 34 5 4 1 29
(A v L% i) 100.0 100.0 80.0 20.0 85.3
— AR AR 77 9 3 6 68
(=7 - B T H & & de) 100.0 100.0 33.3 66.7 88.3
FEAEAR - T AR 54 12 7 5 42
100.0 100.0 58.3 41.7 77.8
TR - T ER AL 68 8 5 3 60
100.0 100.0 62.5 37.5 88.2
i 2% FH % 2R 21 6 5 1 15
(H By AL - i H) 100.0 100.0 83.3 16.7 71.4
i 2% P A 25 30 195 31 28 3 164
(BEhH - ") 100.0 100.0 90.3 9.7 84.1
i 5 R 28 3 2 1 25
100.0 100.0 66.7 33.3 89.3
55 i B B 5 - - - 5
100.0 - - - 100.0
FIRI - H R 1 1 - 1 -
100.0 100.0 - 100.0 -
O fil Bl ik 3 92 14 8 6 78
100.0 100.0 57.1 42.9 84.8
R - - - - -
(PN S 626 84 55 29 542
E3 100.0 100.0 65.5 34.5 86.6
B N 194 30 20 10 164
A 100.0 100.0 66.7 33.3 84.5
G EN 20 3 2 1 17
100.0 100.0 66.7 33.3 85.0
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11-2. 2 EHAR]
@ HFE - HANDIER

RBCEERER () . TR M (%)

oLl 2l SN O B
ait [HBEE | 1~3r A | 3~65 B (67 A~1 | VEDLE [ FPRIAT | AU [ BHEE | 1~37 A [3~64 A |65 A~1| VESLE | TRIAT [ AH)
Fili Kili | ERE Fi Kili | ERE

Wi 840 76 30 34 10 1 1 764 38 10 14 9 2 3 802
1000 1000 395 47 132 13 13 910| 1000 263 36.8 237 53 19 955

¥R BAENT T - - - - - - at 4 1 1 1 - 1 67
fi 100.0 - - - - - - 1000 1000 250 250 250 - 250 94.4
il | 8 3 2 1 - - - 5 - - - - - - 8
(Rh3% - 8 - (o) 100.0 100.0 66.7 333 - - - 62.5 - - - - - - 1000
IR - B A 3 - - - - - - 3 1 - - - - 1 2
100.0 - - - - - -l 1000 1000 - - - -| 1000 66.7

AR ARG (RR A 1 - - - - - - 1 - - - - - - 1
VT TREER 100.0 - - - - - -l 1000 - - - - - - 1000
R AT )T 3 - - - - - - 3 - - - - - - 3
100.0 - - - - - - 1000 - - - - - -| 1000

LA 3 - - - - - - 3 - - - - - - 3
100.0 - - - - - - 1000 - - - - - -| 1000

b, AR 68 5 3 2 - - - 63 3 2 - 1 - - 65
1000 1000 60.0 400 - - - 926 1000 66.7 - 333 - -l 956

75 AF ) Wik 2 2 - 2 - - - 18 - - - - - - 20
1000 1000 -| 1000 - - - 90.0 - - - - - - 1000

4 10 - - - - - - 10 - - - - - - 10
100.0 - - - - - - 1000 - - - - - -| 1000

EIN T 17 3 2 1 - - - 14 1 1 - - - - 16
1000 1000 66.7 333 - - - 824 1000|1000 - - - -l

ARV 14 - - - - - - 14 - - - - - - 14
100.0 - - - - - - 1000 - - - - - -| 1000

Bl 31 1 - - 1 - - 30 1 - 1 - - - 30
(HEhzat) 100.0 100.0 - - 1000 - - 96.8 100.0 -| 1000 - - - 96.8
FHeE 16 1 - 1 - - - 15 2 1 - 1 - - 14
1000 1000 -l 1000 - - - 938| 1000 500 - 50.0 - -l e15

£t 3 1 - 1 - - - 30 1 - 1 - - - 33
(Ay¥MTEED) 100.0 100.0 -l 1000 - - - 88.2 100.0 -| 1000 - - - 97.1

— B 7 3 1 2 - - - 74 6 2 2 1 1 - 1
(6% - BRLAZAD) 1000 1000 333 66.7 - - - 961 | 1000 333 333 167 167 -l %2
ER - BT RES 54 7 1 2 2 1 1 47 5 - 2 2 - 1 19
1000 1000 143 286 28.6 143 143 870 1000 -l 400 400 - 200 90.7

X EFEM 68 5 3 1 1 - - 63 3 1 1 1 - - 65
1000 1000 60.0 200 200 - - 926 1000 333 333 333 - -l 956

LRt =] 21 5 1 3 1 - - 16 1 - 1 - - - 20
(AHE - “hd) 1000 [ 1000 200 60.0 200 - - 76.2 100.0 -| 1000 - - - 95.2
% IR 40 195 28 12 13 3 - - 167 2 - 1 1 - - 193
(A8 - &) 100.0 100.0 429 464 10.7 - - 85.6 100.0 - 50.0 50.0 - - 99.0

&2 28 2 2 - - - - 26 1 1 - - - - 27
1000 1000 1000 - - - - 929| 1000 1000 - - - - %64

B8 5 - - - - - - 5 - - - - - - 5
100.0 - - - - - - 1000 - - - - - -| 1000
FIVRL - HHA 1 - - - - - - 1 1 - - - 1 - -
100.0 - - - - - - 1000 1000 - - -| 1000 - -

i i % 92 7 3 2 2 - - 85 6 1 4 1 - - 86
1000 1000 429 286 286 - - 924 | 1000 167 66.7 167 - -l s
R - - - - - - - - - - - - - - -
[APNLES 626 55 21 2% 8 1 1 571 28 8 1 8 - 1 598
% 1000|1000 382 436 145 18 18 912| 1000 286 393 286 - 36 955
NS 194 19 8 9 2 - - 175 9 2 2 1 2 2 185
# 1000 1000 421 474 105 - - 902| 1000 22 222 11.1 222 222 95.4
3|8 20 2 1 1 - - - 18 1 - 1 - - - 19
1000 1000 50.0 50.0 - - - 900| 1000 -| 1000 - - -l %50
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N-2. 28N H-o1- (Hd) FXEY
@ IBHARSTOIER

B IS (B . B ke (%)

&Rt GEEIEE o2 4 ;]
5813 840 342 316 26 498
100.0 100.0 92.4 7.6 59.3
¥ | mdh - BRKPEM T 71 8 2 6 63
fil 100.0 100.0 25.0 75.0 88.7
UL 70 8 5 5 - 3
(R5A8 - Mkt - b alAe) 100.0 100.0 100.0 - 37.5
AR - AllAE SRS 3 1 - 1 2
100.0 100.0 - 100.0 66.7
KRB AR (RE - A 1 - - - 1
TV TR AR <) 100.0 . - - 100.0
ESL e ye 1 3 1 1 - 2
100.0 100.0 100.0 - 66.7
(A 3 - - - 3
100.0 - - - 100.0
=N R 68 20 19 1 48
100.0 100.0 95.0 5.0 70.6
7T AF w7 B 20 8 8 - 12
100.0 100.0 100.0 - 60.0
25 3 10 - - - 10
100.0 - - - 100.0
= ARG 17 9 8 1 8
100.0 100.0 88.9 11.1 47.1
B Lo 14 3 3 - 11
100.0 100.0 100.0 - 78.6
Bk 5l 31 19 19 - 12
(5 #8052 G Te) 100.0 100.0 100.0 - 38.7
EIS 7Y 16 9 8 1 7
100.0 100.0 88.9 11.1 43.8
4 L 34 16 16 - 18
(A > FINL%&FTe) 100.0 100.0 100.0 - 52.9
— B ek 77 21 16 5 56
(7 - T REET) 100.0 100.0 76.2 23.8 72.7
BB - AR 54 11 11 - 43
100.0 100.0 100.0 - 79.6
ER - B 68 26 21 5 42
100.0 100.0 80.8 19.2 61.8
iy 12 P AR 21 7 7 - 14
([ By - iy H) 100.0 100.0 100.0 - 66.7
305 FF AR 705 00 it 195 149 147 2 46
(EH B - iy H) 100.0 100.0 98.7 1.3 23.6
i 7 A 28 5 3 2 23
100.0 100.0 60.0 40.0 82.1
25 7 B 25 5 - - - 5
100.0 - - - 100.0
FI - H i 1 1 - 1 -
100.0 100.0 - 100.0 -
T A i 3 92 23 22 1 69
100.0 100.0 95.7 4.3 75.0
N - - - - -
fi | KA ¥ 626 251 238 13 375
¥ 100.0 100.0 94.8 5.2 59.9
K| N 194 85 73 12 109
i 100.0 100.0 85.9 14.1 56.2
GINEN] 20 6 5 1 14
100.0 100.0 83.3 16.7 70.0
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11-2. &2 E 1A
@ IRHERSE DI

RBCEERER () . TR M (%)

oLl 2l SN O B
ait [HBEE | 1~3r A | 3~65 B (67 A~1 | VEDLE [ FPRIAT | AU [ BHEE | 1~37 A [3~64 A |65 A~1| VESLE | TRIAT [ AH)
Fili Kili | ERE Fi Kili | ERE

Wi 840 314 87 193 31 1 2 526 2% 15 6 1 1 2 815
1000 1000 217 615 99 03 06 626 1000 60.0 240 40 40 80 970

¥R BAENT T 2 2 - - - - 69 5 2 - - 1 2 66
fi 1000 1000 | 1000 - - - - 972| 1000 400 - - 200 40.0 930
il | 8 5 3 2 - - - 3 - - - - - - 8
(Rh3% - 8 - (o) 100.0 100.0 60.0 400 - - - 315 - - - - - - 1000
IR - B A 3 - - - - - - 3 1 - 1 - - - 2
100.0 - - - - - -l 1000 1000 -| 1000 - - - 66

AR ARG (RR A 1 - - - - - R 1 N N N N - - 1
VT TREER 100.0 - - - - - -l 1000 - - - - - - 1000
FE AT YT 3 1 1 - - - - 2 - - - - - - 3
1000 1000 1000 - - - - 66.7 - - - - - -| 1000

e VT 3 - - - - - - 3 - - - - - - 3
100.0 - - - - - - 1000 - - - - - -| 1000

b, AR 68 19 7 11 1 - - 49 1 - 1 - - - 67
1000 1000 368 579 53 - - 7210|1000 -| 1000 - - -l e85

75 AF ) Wik 2 8 2 6 - - - 12 - - - - - - 20
1000 1000 250 750 - - - 60.0 - - - - - - 1000

4 10 - - - - - - 10 - - - - - - 10
100.0 - - - - - - 1000 - - - - - -| 1000

EIN T 17 8 1 7 - - - 9 1 1 - - - - 16
1000 1000 125 875 - - - 59| 1000 1000 - - - -l

¥ 10 14 3 1 2 - - - 11 - - - - - - 14
1000 1000 333 66.7 - - - 786 - - - - - -| 1000

Bl 31 19 10 9 - - - 12 - - - - - - 31
(hiEERE A D) 100.0 100.0 52.6 474 - - - 387 - - - - - - 1000
FHeE 16 8 3 3 2 - - 8 1 - - 1 - - 15
1000 1000 315 375 250 - - 500( 1000 - -| 1000 - -l w8

£t 3 15 1 11 - - - 19 - - - - - - 34
(Ay¥MTEED) 100.0 100.0 267 733 - - - 55.9 - - - - - - 1000

— B 7 16 7 6 3 - - 61 5 3 2 - - - 72
(6% - BRLAZAD) 1000 1000 438 375 188 - - 792| 1000 60.0 400 - - -l w5
ER - BT RES 54 11 5 4 1 1 - 143 - - - - - - 54
1000 1000 455 36.4 9.1 9.1 - 796 - - - - - -| 1000

X EFEM 68 21 7 12 2 - - 47 5 5 - - - - 63
1000 1000 333 57.1 95 - - 69.1| 1000 1000 - - - -l 926

LRt =] 21 7 1 5 1 - - 14 - - - - - - 21
(AHE - “hd) 1000 [ 1000 14.3 714 143 - - 66.7 - - - - - - 1000
% IR 40 195 17 2 106 17 - - 18 2 1 1 - - - 193
(A8 - &) 100.0 100.0 16.3 721 1.6 - - 246 100.0 50.0 50.0 - - - 99.0

&2 28 3 1 1 1 - - 25 2 2 - - - - 2%
1000 1000 333 333 333 - -l 893 1000| 1000 - - - -l %29

B et o 5 R - - - - - 5 - - - - - - 5
100.0 - - - - - - 1000 - - - - - -| 1000
AR+ iR 1 - - - - - - 1 1 - 1 - - - R
100.0 - - - - - - 1000 1000 -| 1000 - - - -

O iERE 92 2 8 8 3 - 2 7 1 1 - - - - 91
1000 1000 38.1 38.1 143 - 95 772 1000 1000 - - - -l 99
R - - - - - - - - - - - - - - -
[APNLES 626 237 66 148 22 1 - 389 13 8 3 1 1 - 613
% 1000|1000 218 624 9.3 04 - 621| 1000 615 23.1 17 17 -l 19
NS 194 2 21 10 9 - 2 122 11 7 3 - - 1 183
# 1000 1000 292 556 125 - 28 629 1000 63.6 273 - - 9.1 94.3
3|8 20 5 - 5 - - - 15 1 - - - - 1 19
1000 1000 -| 1000 - - - 750 1000 - - - -| 1000 950
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N-2. 28N H-o1- (Hd) FXEY
® MEE - MIT (REXOH) OHER

B IS (B . B ke (%)

&Rt GEEIEE o2 4 ;]
5813 840 286 246 40 554
100.0 100.0 86.0 14.0 66.0
¥ | mdh - BRKPEM T 71 10 1 9 61
fil 100.0 100.0 10.0 90.0 85.9
UL 70 8 4 4 - 4
(R5A8 - Mkt - b alAe) 100.0 100.0 100.0 - 50.0
AR - AllAE SRS 3 1 - 1 2
100.0 100.0 - 100.0 66.7
KRB AR (RE - A 1 - - - 1
TV TR AR <) 100.0 . - - 100.0
ESL e ye 1 3 - - - 3
100.0 - - - 100.0
(A 3 - - - 3
100.0 - - - 100.0
=N R 68 16 13 3 52
100.0 100.0 81.3 18.8 76.5
7T ATy 7 B 20 7 7 - 13
100.0 100.0 100.0 - 65.0
25 58 10 - - - 10
100.0 - - - 100.0
= ARG 17 8 7 1 9
100.0 100.0 87.5 12.5 52.9
B Lo 14 1 1 - 13
100.0 100.0 100.0 - 92.9
f53 31 9 9 - 22
(5 #8052 G Te) 100.0 100.0 100.0 - 71.0
EIS 7Y 16 7 6 1 9
100.0 100.0 85.7 14.3 56.3
4 L 34 17 15 2 17
(A v ¥ & GEe) 100.0 100.0 88.2 11.8 50.0
— B ek 77 15 10 5 62
(7 - T REET) 100.0 100.0 66.7 33.3 80.5
BB - AR 54 9 7 2 45
100.0 100.0 77.8 22.2 83.3
ER - B 68 10 9 1 58
100.0 100.0 90.0 10.0 85.3
iy 12 P AR 21 13 11 2 8
CE B dE - i@ i) 100.0 100.0 84.6 15.4 38.1
305 FF AR 705 00 it 195 135 133 2 60
(EH B - iy H) 100.0 100.0 98.5 1.5 30.8
i 7 A 28 4 2 2 24
100.0 100.0 50.0 50.0 85.7
25 7 B 25 5 - - - 5
100.0 - - - 100.0
FI - H i 1 1 1 - -
100.0 100.0 100.0 - -
T O i i ¥ 92 19 10 9 73
100.0 100.0 52.6 47.4 79.3
N - - - - -
1z [ R4 626 204 181 23 422
¥ 100.0 100.0 88.7 11.3 67.4
K| N 194 77 61 16 117
i 100.0 100.0 79.2 20.8 60.3
GINEN] 20 5 4 1 15
100.0 100.0 80.0 20.0 75.0
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11-2. B2 & HARS
® HihdEE - NI (AEEDH) DER

RBCEERER () . TR M (%)

oLl 2l SN O B
ait [HBEE | 1~3r A | 3~65 B (67 A~1 | VEDLE [ FPRIAT | AU [ BHEE | 1~37 A [3~64 A |65 A~1| VESLE | TRIAT [ AH)
Fili Kili | ERE Fi Kili | ERE

Wi 840 242 74 144 22 - 2 598 39 11 13 9 5 1 801
1000 1000 306 595 9.1 - 08 712| 1000 282 333 23.1 128 26 954

¥R BAENT T 1 1 - - - - 70 8 - 3 3 1 1 63
fi 1000 1000 | 1000 - - - - 986| 1000 - 315 375 125 125 88.7
il | 8 1 3 1 - - - 1 - - - - - - 8
(Rh3% - 8 - (o) 100.0 100.0 75.0 25.0 - - - 50.0 - - - - - - 1000
IR - B A 3 - - - - - - 3 1 - 1 - - - 2
100.0 - - - - - -l 1000 1000 -| 1000 - - - 66

AR ARG (RR A 1 - - - - - - 1 - - - - - - 1
VT TREER 100.0 - - - - - -l 1000 - - - - - - 1000
R AT )T 3 - - - - - - 3 - - - - - - 3
100.0 - - - - - - 1000 - - - - - -| 1000

LA 3 - - - - - - 3 - - - - - - 3
100.0 - - - - - - 1000 - - - - - -| 1000

b, AR 68 12 5 6 1 - - 56 3 - 3 - - - 65
1000 1000 417 50.0 83 - - 824 1000 -| 1000 - - -l 956

75 AF ) Wik 2 7 1 6 - - - 13 - - - - - - 20
1000 1000 143 85.7 - - - 65.0 - - - - - - 1000

4 10 - - - - - - 10 - - - - - - 10
100.0 - - - - - - 1000 - - - - - -| 1000

EIN T 17 7 1 6 - - - 10 1 1 - - - - 16
1000 1000 143 85.7 - - - 588 | 1000 1000 - - - -l

¥ 10 14 1 - 1 - - - 13 - - - - - - 14
1000 1000 -| 1000 - - - 929 - - - - - -| 1000

Bl 31 9 1 5 - - - 22 - - - - - - 31
(hiEERE A D) 100.0 100.0 444 55.6 - - - 71.0 - - - - - - 1000
FHeE 16 6 2 2 2 - - 10 1 - - 1 - - 15
1000 1000 333 333 333 - - 625| 1000 - -| 1000 - -l w8

£t 3 15 6 8 1 - - 19 2 1 - - 1 - 32
(Ay¥MTEEL) 1000] 1000 400 53.3 6.7 - - 59| 1000 500 - - 50.0 - 94.1

— B 7 10 5 2 1 - 2 67 5 3 2 - - - 72
(6% - BRLAZAD) 1000 1000 50.0 200 10.0 - 200 870 1000 60.0 400 - - -l w5
ER - BT RES 54 7 4 2 1 - - 47 2 - - 2 - - 52
1000 1000 57.1 286 143 - -l 80| 1000 - -| 1000 - -l %63

X EFEM 68 9 5 1 - - - 59 1 - - 1 - - 67
1000 1000 55.6 444 - - - 868| 1000 - -| 1000 - -l e85

LRt =] 21 11 2 7 2 - - 10 2 - 2 - - - 19
(AHE - “hd) 1000 [ 1000 18.2 63.6 18.2 - - 416 100.0 -| 1000 - - - 90.5
155 T B AR 195 132 30 89 13 - - 63 2 1 1 - - - 193
(A8 - &) 100.0 100.0 27 674 98 - - 323 100.0 50.0 50.0 - - - 99.0

&2 28 1 - 1 - - - 21 2 1 - - 1 - 2%
1000 1000 -| 1000 - - - 964 | 1000 50.0 - - 50.0 -l %29

B8 5 - - - - - - 5 - - - - - - 5
100.0 - - - - - - 1000 - - - - - -| 1000

FIR - ik 1 1 1 - - - - - - - - - - - 1
1000 1000 1000 - - - - - - - - - - -| 1000

i i % 92 9 4 1 1 - - 83 9 1 1 2 2 - 83
1000 1000 444 44 111 - - 902| 1000 444 111 222 222 -l %02
R - - - - - - - - - - - - - - -
[APNLES 626 178 53 107 17 - 1 448 23 4 9 7 3 - 603
% 1000|1000 298 60.1 9.6 - 0.6 76| 1000 174 39.1 304 130 - %63
NS 194 60 21 33 5 - 1 134 15 7 4 2 2 - 179
# 1000 1000 350 55.0 83 - 17 69.1| 1000 4.7 267 133 133 - 923
3|8 20 1 - 4 - - - 16 1 - - - - 1 19
1000 1000 -| 1000 - - -| 800 1000 - - - -| 1000 950

99



-2 28X Ho1=- (HD) BXEFE
® 7EE (Bb& - RAH) DEHE

B IS (B . B ke (%)

&Rt GEEIEE o2 4 ;]
5813 840 249 152 97 591
100.0 100.0 61.0 39.0 70.4
¥ | mdh - BRKPEM T 71 10 9 1 61
fil 100.0 100.0 90.0 10.0 85.9
UL 70 8 2 1 1 6
(R5A8 - Mkt - b alAe) 100.0 100.0 50.0 50.0 75.0
AR - AllAE SRS 3 1 1 - 2
100.0 100.0 100.0 - 66.7
KRB AR (RE - A 1 - - - 1
TV TR AR <) 100.0 . - - 100.0
ESL e ye 1 3 1 1 - 2
100.0 100.0 100.0 - 66.7
W UL 3 1 1 - 2
100.0 100.0 100.0 - 66.7
=N R 68 19 15 4 49
100.0 100.0 78.9 21.1 72.1
7T ATy B, 20 4 3 1 16
100.0 100.0 75.0 25.0 80.0
25 58 10 1 1 - 9
100.0 100.0 100.0 - 90.0
= ARG 17 6 4 2 11
100.0 100.0 66.7 33.3 64.7
B Lo 14 1 1 - 13
100.0 100.0 100.0 - 92.9
Bk 5l 31 8 2 6 23
(5 #8052 G Te) 100.0 100.0 25.0 75.0 74.2
EIS 7Y 16 3 2 1 13
100.0 100.0 66.7 33.3 81.3
4 L 34 9 5 4 25
(A > FINL%&FTe) 100.0 100.0 55.6 44.4 73.5
— B ek 77 23 19 4 54
(7 - T REET) 100.0 100.0 82.6 17.4 70.1
BB - AR 54 19 14 5 35
100.0 100.0 73.7 26.3 64.8
ER - B 68 21 18 3 47
100.0 100.0 85.7 14.3 69.1
iy 12 P AR 21 8 7 1 13
([ By - iy H) 100.0 100.0 87.5 12.5 61.9
305 FF AR 705 00 it 195 89 32 57 106
(EH B - iy H) 100.0 100.0 36.0 64.0 54.4
i 7 A 28 4 4 - 24
100.0 100.0 100.0 - 85.7
25 7 B 25 5 - - - 5
100.0 - - - 100.0
FI - H i 1 1 1 - -
100.0 100.0 100.0 - -
T O i i ¥ 92 18 11 7 74
100.0 100.0 61.1 38.9 80.4
N - - - - -
fi | KA ¥ 626 195 115 80 431
¥ 100.0 100.0 59.0 41.0 68.8
K| N 194 51 36 15 143
i 100.0 100.0 70.6 29.4 73.7
GINEN] 20 3 1 2 17
100.0 100.0 33.3 66.7 85.0
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11-2. &2 E 1A
® 7EE (Bb& - RAH) DEHE

RBCEERER () . TR M (%)

oLl 2l SN O B
ait [HBEE | 1~3r A | 3~65 B (67 A~1 | VEDLE [ FPRIAT | AU [ BHEE | 1~37 A [3~64 A |65 A~1| VESLE | TRIAT [ AH)
Fili Kili | ERE Fi Kili | ERE

Wi 840 149 85 49 10 2 3 691 9% 30 51 14 - - 45
1000 1000 570 329 67 13 20 823| 1000 316 537 147 - -l s

¥R BAENT T 9 5 2 1 - 1 62 1 - - 1 - - 70
fi 1000] 1000 55.6 222 11.1 - 11.1 873| 1000 - -| 1000 - -l %6
il | 8 1 1 - - - - 7 1 1 - - - - 7
(Rh3% - 8 - (o) 100.0 100.0 100.0 - - - - 815 100.0 100.0 - - - - 875
IR - B A 3 1 - - - - 1 2 - - - - - - 3
1000 1000 - - - -| 1000 66.7 - - - - - - 1000

AR ARG (RR A 1 - - - - - - 1 - - - - - - 1
VT TREER 100.0 - - - - - -l 1000 - - - - - - 1000
R AT )T 3 1 1 - - - - 2 - - - - - - 3
1000 1000 1000 - - - - 66.7 - - - - - -| 1000

LT 3 1 1 - - - - 2 - - - - - - 3
1000 1000 1000 - - - - 66.7 - - - - - -| 1000

b, AR 68 1 10 3 1 - - 54 4 1 2 1 - - 64
1000 1000 14 214 71 - - 94| 1000 250 50.0 250 - -l

75 AF ) Wik 2 3 1 2 - - - 17 1 - 1 - - - 19
1000 1000 333 66.7 - - -l 850 1000 -| 1000 - - - 950

&% 10 1 - 1 - - - 9 - - - - - - 10
1000 1000 -| 1000 - - - 90.0 - - - - - -| 1000

EIN T 17 4 2 2 - - - 13 2 - 2 - - - 15
1000 1000 50.0 50.0 - - - 765| 1000 -| 1000 - - - 82

¥ 10 14 1 1 - - - - 13 - - - - - - 14
1000 1000 1000 - - - - 929 - - - - - -| 1000

Bl 31 1 1 - - - - 30 6 1 3 2 - - 25
(HEhzat) 100.0 100.0 100.0 - - - - 96.8 100.0 16.7 50.0 333 - - 80.6
FHeE 16 2 1 1 - - - 1 1 - 1 - - - 15
1000 1000 50.0 50.0 - - -l 815 1000 -| 1000 - - -l w8

£t 3 5 1 1 - - - 29 1 - 4 - - - 30
(Ay¥MTEEL) 1000] 1000 80.0 200 - - -l 853 1000 -| 1000 - - - 88.2

— B 7 19 7 10 1 - 1 58 4 1 3 - - - 73
(6% - BRLAZAD) 1000 1000 36.8 526 53 - 53 753| 1000 250 750 - - -l w8
ER - BT RES 54 14 9 3 1 1 - 40 5 2 2 1 - - 19
1000 1000 64.3 214 71 11 - 41| 1000 400 400 200 - - 0

X EFEM 68 18 11 5 2 - - 50 3 2 - 1 - - 65
1000 1000 61.1 278 1.1 - - 735| 1000 66.7 - 333 - -l 956

LRt =] 21 7 3 2 2 - - 14 1 - 1 - - - 20
(AHE - “hd) 1000 [ 1000 429 28.6 286 - - 66.7 100.0 -| 1000 - - - 95.2
155 T B AR 195 32 22 9 1 - - 163 55 21 28 6 - - 140
(A8 - &) 100.0 100.0 68.8 2.1 3.1 - - 836 100.0 38.2 50.9 109 - - 718

&2 28 1 2 1 - 1 - 24 - - - - - - 28
1000 1000 500 250 - 250 - s - - - - - -| 1000

B8 5 - - - - - - 5 - - - - - - 5
100.0 - - - - - - 1000 - - - - - -| 1000

FIR - ik 1 1 1 - - - - - - - - - - - 1
1000 1000 1000 - - - - - - - - - - -| 1000

i i % 92 10 2 7 1 - - 82 7 1 4 2 - - 85
1000 1000 200 700 100 - -l 81| 1000 143 57.1 286 - - %24
R - - - - - - - - - - - - - - -
[APNLES 626 113 65 37 8 2 1 513 80 2 43 11 - - 546
% 1000|1000 575 327 7.1 18 0.9 819 1000 325 538 138 - -l 12
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3 100.0 100.0 96.8 3 53.7
M| s A 20 5 5 - 15
AL 100.0 100.0 100.0 - 75.0
B | A~ 5 1 1 - 4
100.0 100.0 100.0 - 80.0
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12-2.

SR

@ BEMDEAN - FEDEH

BE ORISR D) . FEBE MR (%)
W W 0> 55 IO T R O 5
ait [EoE ~67 1 VEDLE | FRRA | A8 | Ao 67 N |67 0 ~1| VEEAE | PRI | A0
EST ESC AEAR
M 161 67 30 24 12 1 - 94 1 - 1 - 160
100.0 100.0 44.8 358 17.9 15 - 58.4 100.0 - 100.0 - 99.4
EEEE 93 41 21 15 5 - 52 1 - 1 - 92
il 100.0 100.0 512 36.6 12.2 - - 55.9 100.0 - 100.0 - 98.9
B | fEdh + BEAKEEN T 5 5 5
100.0 - - - - - - 100.0 - - - - 100.0
i - - - - - - - - - - - - -
(B - - - - - - - - - - - - - -
AR - B AE B - - - - - - - - - - - - -
A - AR 2 2 2
S TG 1000 - - - - - - 100.0 - - - - 1000
'k - - - - - - - - - - - E -
e - LT 3 - - - - - - 3 - - - - 3
100.0 - - - - - - 100.0 - - - - 100.0
b A 2 2 2 - - - - - - - - - 2
100.0 100.0 100.0 - - - - - - - - - 1000
EEE s 4 - - - - - - 4 - - - - 4
100.0 - - - - - - 100.0 - - - - 100.0
1 1 1
100.0 - - - - - - 100.0 - - - - 100.0
1 1 1 - - - - - - - - - 1
100.0 100.0 - - - - - - - - - 1000
- - - - - - 3 - - - - 3
- - - - - - 100.0 - - - - 100.0
SR 2 2 2
B b A B ) 100.0 - - - - - - 100.0 - - - - 100.0
gk IR 3 - - - - - - 3 - - - - 3
100.0 - - - - - - 100.0 - - - - 1000
1 - - - - - - 1 - - - - 1
100.0 - - - - - - 100.0 - - - - 100.0
8 1 1 1 2 4 8
100.0 100.0 25.0 25.0 50.0 - - 50.0 - - - - 100.0
12 9 6 3 - - - 3 - - - - 12
100.0 100.0 66.7 333 - - - 25.0 - - - - 100.0
£ A 5 1 3 1 - - - 1 - - - - 5
100.0 100.0 75.0 25.0 - - - 20.0 - - - - 100.0
% S A 5 1 1 2 1 1 5
CE @ - D) 100.0 100.0 25.0 50.0 25.0 - - 200 - - - - 100.0
% P B 2 3 o 21 9 3 5 1 - - 12 - - - - 21
@ - ) 100.0 100.0 333 55.6 1 - - 57.1 - - - - 100.0
FHE b 2 2 1 1 - - - - - - - - 2
100.0 100.0 50.0 50.0 - - - - - - - - 100.0
33 2
FIVR - R - - - - - - - - - - - - -
Z o fi B % 13 6 3 2 1 - - 7 1 - 1 - 12
100.0 100.0 50.0 33.3 16.7 - - 53.8 100.0 - 100.0 - 923
s 68 26 9 9 7 1 42 68
100.0 100.0 346 346 26.9 3.8 - 61.8 - - - - 100.0
i - KPE - - E - B - - - - - - -
R - - - - - - - - - - - - -
1 1 1
100.0 - - - - - - 100.0 - - - - 100.0
ot 1 1 1 - - - - - - - - - 1
100.0 100.0 100.0 - - - - - - - - - 100.0
i 15 5 1 - 1 - 10 - - - - 15
100.0 100.0 200 - 20.0 - 66.7 - - - - 100.0
e 22 18 12 6 4 2 6 18
1000 50.0 333 16.7 - - 333 - - - - 100.0
BT - - - - - - 2 - - - - 2
X - - - - - - 100.0 - - - - 100.0
R 4 - - - - - - 1 - - - - 4
100.0 - - - - - - 100.0 - - - - 100.0
HEZR - - - - - - - - - - - - -
S 12 4 1 1 2 - - 8 - - - - 12
100.0 100.0 25.0 25.0 50.0 - - 66.7 - - - - 100.0
A - - - - - - - - - - - - -
% - BLES - - - - - - - - - - - - -
TN S HRET S 7 3 - 3 - - - 4 - - - - 7
100.0 100.0 - 100.0 - - - 57.1 - - - - 100.0
WiE/ Y7 kT 1 1 1
100.0 - - - - - - 100.0 - - - - 100.0
i1 v 1 - - - - - - 1 - - - - 1
100.0 - - - - - - 100.0 - - - - 100.0
T O IR 6 1 - 1 - - - 5 - - - - 6
100.0 100.0 - 100.0 - - - 83.3 - - - - 100.0
L]
A | RA 3 136 61 27 21 12 1 - 75 1 - 1 - 135
e 100.0 100.0 443 344 19.7 1.6 - 55.1 100.0 - 100.0 - 993
|1 20 5 2 3 - - 15 - - - - 20
H 100.0 100.0 40.0 60.0 - - - 75.0 - - - - 100.0
CINENT] 5 1 1 4 5
100.0 100.0 100.0 - - - - 80.0 - - - - 100.0
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12-2.

@ BMFRE - AN DER

FENHO- (HD) FEXTED

LBy - eI e sk (kb)) . c AR L (%)
A7 2 1] 257 Dl 7L A= 8

e 5 161 17 14 3 144
100.0 100.0 82.4 17.6 89.4

# 93 10 8 2 83

100.0 100.0 80.0 20.0 89.2

] At - B IR PE TN T 5 - - - 5
100.0 - - - 100.0
i - - - - -
G fet - wkdn - Ak - - - - -
AR - e TR - - - - -
(& - T 2 1 - 1 1

2 B < 100.0 100.0 - 100.0 50.0
Dl = = = - -

e - N 3 3
100.0 - - - 100.0

2 2

100.0 - - - 100.0

4 1 1 3

100.0 100.0 100.0 - 75.0

1 - - - 1

100.0 - - - 100.0

ERY 1 - - - 1
100.0 - - - 100.0

@mEe - b 3 - - - 3
100.0 - - - 100.0

R ) 2 - - - 2
(s G 100.0 - - - 100.0
ELE N 3 - - - 3
100.0 - - - 100.0

it 1 1

- N I % 100.0 - - - 100.0

- Hi A5 Ak 8 1 1 7
(G - Pk T L A& S de) 100.0 100.0 - 100.0 87.5
FEAUBE bR - FE TR e 12 12
100.0 — - - 100.0

FEAL - FE TS 5 - - - 5
100.0 - - - 100.0

i 325 B i 5 2 2 - 3
(G R i T 100.0 100.0 100.0 - 60.0
i 2% A S S o 21 4 A - 17
i g | - ) 100.0 100.0 100.0 - 81.0
il 455 A Ak 2 - - - 2
100.0 - - - 100.0
1 I3 e - - - - -

IR - HH R

& o> il L3 13 1 1 12
100.0 100.0 100.0 - 92.3

Femd e § 68 7 6 1 61
100.0 100.0 85.7 14.3 89.7
ifa - K PE - - - - -
[T - - - - -
3 T = = = T
100.0 - - - 100.0

it i 1 - - - 1
100.0 - - - 100.0

e 15 3 3 - 12
100.0 100.0 100.0 - 80.0

[P 18 3 2 1 15
100.0 100.0 66.7 33.3 83.3

FRAT 2 2
100.0 - - - 100.0

15 85T 4 4
100.0 — - - 100.0

12 - - — 12

100.0 - - - 100.0

AT SNRAT S 7 1 1 - 6
100.0 100.0 100.0 - 85.7

s s 7 kT 1 1
100.0 - - - 100.0

Wk 7T -k 1 1
100.0 - - - 100.0

& o> fil I B 5 4 6 6
100.0 — - - 100.0
A~ - - - - -
KAz 136 15 13 2 121
3 100.0 100.0 86.7 13.3 89.0
M| s A 20 2 1 1 18
AL 100.0 100.0 50.0 50.0 90.0
B | A~ 5 - - - 5
100.0 - - - 100.0
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12-2.
€)

B2 488
ZEY

il

W ERE - EANDIERE

BEE BB (D) . FE MR (%)
W B > 5 T T R O 5
ait [EoE ~67 1 VEDLE | FRRA | A8 | a1 67 N |67 0 ~1| VEEAE | PRI | A0
EST ESC AEAR
M 161 14 4 7 3 - 147 2 1 - 1 - 159
100.0 100.0 28.6 50.0 214 - 913 100.0 50.0 - 500 - 98.8
E LR 93 8 - 6 2 - 85 2 1 - 1 - 91
il 100.0 100.0 - 75.0 25.0 - 91.4 100.0 50.0 - 50.0 - 97.8
B | fEdh + BEAKEEN T 5 5 5
100.0 - - - - - 100.0 - - - - - 100.0
i - - - - - - - - - - - - -
(B - - - - - - - - - - - - - -
AR - B AE B - - - - - - - - - - - - -
A - AR 2 2 1 1 1
S TG 100.0 - - - - - 100.0 1000 1000 - - - 50.0
= VSR - = = = = = = = = = = = =
e - LT 3 - - - - - 3 - - - - - 3
100.0 - - - - - 100.0 - - - - - 100.0
dh. A 2 - - - - - 2 - - - - - 2
100.0 - - - - - 100.0 - - - - - 1000
EEE s 4 1 - 1 - - 3 - - - - - 4
100.0 100.0 - 100.0 - - 75.0 - - - - - 100.0
1 1 1
100.0 - - - - - 100.0 - - - - - 100.0
1 - - - - - 1 - - - - - 1
- - - - - 100.0 - - - - - 1000
- - - - - 3 - - - - - 3
- - - - - 100.0 - - - - - 100.0
SR 2 2 2
B b A B ) 100.0 - - - - - 100.0 - - - - - 100.0
gk IR 3 - - - - - 3 - - - - - 3
100.0 - - - - - 100.0 - - - - - 1000
1 - - - - - 1 - - - - - 1
CA T % de) 100.0 - - - - - 100.0 - - - - - 100.0
8 8 1 1 7
e T 100.0 - - - - - 100.0 100.0 - - 100.0 - 875
ik - T 12 - - - - - 12 - - - - - 12
100.0 - - - - - 100.0 - - - - - 100.0
£ 5 - - - - - 5 - - - - - 5
100.0 - - - - - 100.0 - - - - - 100.0
% S A 5 2 1 1 3 5
CE @ - D) 100.0 100.0 - 50.0 50.0 - 60.0 - - - - - 100.0
103 FH A 25 4 it 21 4 - 3 1 - 17 - - - - - 21
By - ) 100.0 100.0 - 75.0 25.0 - 81.0 - - - - - 100.0
FHE b 2 - - - - - 2 - - - - - 2
100.0 - - - - - 100.0 - - - - - 100.0
33 2
FIRI - i - B E - E E E - E - B - B
T O R 13 1 - 1 - - 12 - - - - - 13
100.0 100.0 - 100.0 - - 923 - - - - - 100.0
R F=E 68 6 4 1 1 62 68
100.0 100.0 66.7 16.7 16.7 - 912 - - - - - 100.0
i - KPE - - E - B - - - - - - - -
R - - - - - - - - - - - - -
1 1 1
100.0 - - - - - 100.0 - - - - - 100.0
ot 1 - - - - - 1 - - - - - 1
100.0 - - - - - 100.0 - - - - - 100.0
i 15 3 1 1 1 - 12 - - - - - 15
100.0 100.0 333 33.3 33.3 - 80.0 - - - - - 100.0
e 22 18 2 2 16 18
1000 100.0 - - - 88.9 - - - - - 100.0
AT B E - E E 2 - B - B B 2
1 - - - - - 100.0 - - - - - 100.0
TR 4 - - - - - 1 - - - - - 4
100.0 - - - - - 100.0 - - - - - 100.0
% - - E - E - E - E - - - B
S 12 - - - - - 12 - - - - - 12
100.0 - - - - - 100.0 - - - - - 100.0
A - - - - - - - - - - - - -
% - BLES - - - - - - - - - - - - -
TN S HRET S 7 1 1 - - - 6 - - - - - 7
100.0 100.0 100.0 - - - 85.7 - - - - - 100.0
iE/ Y7 ryET 1 1 1
100.0 - - - - - 100.0 - - - - - 100.0
@S T 1 - - - - - 1 - - - - - 1
100.0 - - - - - 100.0 - - - - - 100.0
T O IR 6 - - - - - 6 - - - - - 6
100.0 - - - - - 100.0 - - - - - 100.0
L]
A | RA 3 136 13 4 6 3 - 123 2 1 - 1 - 134
e 100.0 100.0 308 46.2 23.1 - 90.4 100.0 50.0 - 500 - 985
|1 20 1 - 1 - - 19 - - - - - 20
H 100.0 100.0 - 100.0 - - 95.0 - - - - - 100.0
CINENT] 5 5 5
100.0 - - - - - 100.0 - - - - - 100.0
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12-2. 28 H 1= (HD) BXFEFE
@ RARSE DI

LBy - eI e sk (kb)) . c AR L (%)
A7 2 1] 257 Dl 7L A= 8

e 5 161 55 50 5 106
100.0 100.0 90.9 9.1 65.8

# 93 35 32 3 58

3 100.0 100.0 91.4 8.6 62.4
B | FE S - K PE N T 5 1 - 1 4
100.0 100.0 - 100.0 80.0
i - - - - -
G fet - wkdn - Ak - - - - -
AR - e TR - - - - -
(& - T 2 - - - 2

B < 100.0 - - - 100.0
DI = - = - -

e - N 3 3
100.0 - - - 100.0

2 1 1 1

100.0 100.0 - 100.0 50.0

4 1 1 3

100.0 100.0 100.0 - 75.0

1 - - - 1

100.0 - - - 100.0

ERY 1 - - - 1
100.0 - - - 100.0

@mEe - b 3 - - - 3
100.0 - - - 100.0

R ) 2 - - - 2
(s G 100.0 - - - 100.0
ELE N 3 - - - 3
100.0 - - - 100.0

it 1 1

- N I % 100.0 - - - 100.0

- Hi A5 Ak 8 4 3 1 4
(G - Pk T L A& S de) 100.0 100.0 75.0 25.0 50.0
FEAUBE bR - FE TR e 12 4 4 8
100.0 100.0 100.0 - 66.7

FE AL - TS 5 3 3 - 2
100.0 100.0 100.0 - 40.0

i 325 B i 5 3 3 - 2
(G R i T 100.0 100.0 100.0 - 40.0
i 2% A S S o 21 15 15 - 6
i g | - ) 100.0 100.0 100.0 - 28.6
il 455 A Ak 2 1 1 - 1
100.0 100.0 100.0 - 50.0
125 5% 45 i - - - - -

IR - HH R

& o> il L3 13 2 2 11
100.0 100.0 100.0 - 84.6

Femd e § 68 20 18 2 48
100.0 100.0 90.0 10.0 70.6
- K PE - - - - -
- MR - - - - -
IR 1 - - - 1
100.0 - - - 100.0
it i 1 1 1 - -
100.0 100.0 100.0 - -

e 15 5 5 - 10
100.0 100.0 100.0 - 66.7

Wz Je 2= Fh 18 8 8 10
100.0 100.0 100.0 - 55.6

FRAT 2 2
100.0 - - - 100.0

15 85T 4 1 1 3
100.0 100.0 100.0 - 75.0

12 1 - 1 11

100.0 100.0 - 100.0 91.7

AT SNRAT A 7 2 1 1 5
100.0 100.0 50.0 50.0 71.4

s s 7 kT 1 1
100.0 - - - 100.0

Wk 7T -k 1 1
100.0 - - - 100.0

<& oD fil F R 6 2 2 4
100.0 100.0 100.0 - 66.7
A~ - - - - -
KAz 136 a7 44 3 89
3 100.0 100.0 93.6 6.4 65.4
M| s A 20 6 4 2 14
AL 100.0 100.0 66.7 33.3 70.0
B | A~ 5 2 2 - 3
100.0 100.0 100.0 - 60.0
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12-2. 2 & 1A
@ HEHARFTDIERE

LB B (3h) . TR e (%)

W B 0 B S ) 1900 B o> B 388 1)
ait [EoE ~67 1 VEDLE | FRRA | A8 | a1 67 N |67 0 ~1| VEEAE | PRI | A0
EST ESC AEAR

M 161 9 30 9 - 1 112 5 1 3 - 1 - 156
100.0 184 61.2 184 - 2.0 69.6 100.0 200 60.0 - 200 - 96.9
E LR 93 5 22 5 - - 61 3 1 1 - 1 - 90
fid 100.0 15.6 68.8 15.6 - - 65.6 100.0 333 333 - 333 - 96.8
531 [fr &t - JRKPE N T 5 5 1 1 1
100.0 - - - - - - 100.0 100.0 - - - 100.0 - 80.0
B - - - - - - - - - - - - - - -
R - ¥4 - - - - - - - - - - - - - - -
AR - B AE B - - - - - - - - - - - - - - -
A - AR 2 2 2
S TG 1000 - - - - - - 100.0 - - - - - - 1000
'k - - - - - - - - - - - - - - -
#e - LT 3 - - - - - - 3 - - - - - - 3
100.0 - - - - - - 100.0 - - - - - - 100.0
dh. A 2 - - - - - - 2 1 1 - - - - 1
100.0 - - - - - - 100.0 1000 1000 - - - - 50.0
EEE s 4 1 - 1 - - - 3 - - - - - - 4
100.0 100.0 - 100.0 - - - 75.0 - - - - - - 100.0
1 1 1
100.0 - - - - - - 100.0 - - - - - - 100.0
1 - - - - - - 1 - - - - - - 1
- - - - - - 100.0 - - - - - - 1000
- - - - - - 3 - - - - - - 3
- - - - - - 100.0 - - - - - - 100.0
SR 2 2 2
B b A B ) 100.0 - - - - - - 100.0 - - - - - - 100.0
gk IR 3 - - - - - - 3 - - - - - - 3
100.0 - - - - - - 100.0 - - - - - - 1000
1 - - - - - - 1 - - - - - - 1
100.0 - - - - - - 100.0 - - - - - - 100.0
8 3 3 5 1 1 7
100.0 100.0 - 100.0 - - - 625 100.0 - 100.0 - - - 875
12 1 1 3 - - - 8 - - - - - - 12
100.0 100.0 25.0 75.0 - - - 66.7 - - - - - - 100.0
£ 5 3 2 - 1 - - 2 - - - - - - 5
100.0 100.0 66.7 - 33.3 - - 40.0 - - - - - - 100.0
% S A 5 3 3 2 5
(H B - i) 100.0 100.0 - 100.0 - - - 40.0 - - - - - - 100.0
% P B 2 3 o 21 15 1 10 4 - - 6 - - - - - - 21
@ - ) 100.0 100.0 6.7 66.7 26.7 - - 286 - - - - - - 100.0
FHE b 2 1 - 1 - - - 1 - - - - - - 2
100.0 100.0 - 100.0 - - - 50.0 - - - - - - 100.0

33 2
FR + I - - - - - - - - - - - - - - -
Z o fi B % 13 2 1 1 - - - 11 - - - - - - 13
100.0 100.0 50.0 50.0 - - - 84.6 - - - - - - 100.0
R F=E 68 17 4 8 4 1 51 2 2 66
100.0 100.0 235 47.1 235 - 5.9 75.0 100.0 - 100.0 - - - 97.1
i - KPE - - E - B - - - - - - - B - -
R - - - - - - - - - B - - - - B
1 1 1
100.0 - - - - - - 100.0 - - - - - - 100.0
ot 1 1 - 1 - - - - - - - - - - 1
100.0 100.0 - 100.0 - - - - - - - - - - 100.0
i 15 5 - 2 2 - 1 10 - - - - - - 15
100.0 100.0 - 40.0 40.0 - 20.0 66.7 - - - - - - 100.0
e 22 18 8 4 3 1 10 18
1000 50.0 375 125 - - 55.6 - - - - - - 100.0
AT - - - - - - 2 - B - - - - 2
- - - - - - 100.0 - - - - - - 100.0
R 4 - - - - - - 4 - - - - - - 4
100.0 - - - - - - 100.0 - - - - - - 100.0
TR - - - - - - - - - - - - - - -
S 12 - - - - - - 12 1 - 1 - - - 11
100.0 - - - - - - 100.0 100.0 - 100.0 - - - 91.7
A - - - - - - - - - - - - - - -
% - BLES - - - - - - - - - - - - - - -
TN S HRET S 7 1 - 1 - - - 6 1 - 1 - - - 6
100.0 100.0 - 100.0 - - - 85.7 100.0 - 100.0 - - - 85.7
WiE/ Y7 kT 1 1 1
100.0 - - - - - - 100.0 - - - - - - 100.0
BT Tk 1 - - - - - - 1 - - - - - - 1
100.0 - - - - - - 100.0 - - - - - - 100.0
T O IR 6 2 - 1 1 - - 4 - - - - - - 6
100.0 100.0 - 50.0 50.0 - - 66.7 - - - - - - 100.0

]

A | RA 3 136 43 8 26 9 - - 93 3 - 3 - - - 133
e 100.0 100.0 18.6 60.5 209 - - 68.4 100.0 - 100.0 - - - 978
|1 20 1 - 1 - - - 16 2 1 - - 1 - 18
H 100.0 100.0 - 100.0 - - - 80.0 100.0 50.0 - - 50.0 - 90.0
CINENT] 5 2 1 1 3 5
100.0 100.0 50.0 - - - 50.0 60.0 - - - - - - 100.0
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12-2. B2ENHo1- (HdD) BETH
G® RHAEE - T (WEEDH) DIERE

LB - M e sk (kb)) . FEE O RERkEE (%)
o at A7 2 1] 257 Dl 7L g om A~

e 5 161 22 22 139
100.0 100.0 100.0 - 86.3

EE IR 93 22 22 71
Al 100.0 100.0 100.0 - 76.3
] At - B IR PE TN T 5 - - - 5
100.0 - - - 100.0
i - - — — -
G5 AEt - M4 - Al o5 ke - - - - =
AR - e TR - - - - -
2 - - - 2

100.0 - - - 100.0

e - N 3 3
100.0 - - - 100.0

dit . A RS, 2 2
100.0 - - - 100.0

TS R T R, 4 4
100.0 — - - 100.0

< i 1 - - = 1
100.0 - - - 100.0

= 1 - - - 1
100.0 - - - 100.0

@mEe - b 3 - - - 3
100.0 - - - 100.0

ok B = — = >
i % 3 100.0 - - - 100.0
E 3 - - - 3
100.0 - - - 100.0

1 1 1

> 100.0 100.0 100.0 - -

- Hi A5 Ak 8 8
K= - Bk T 5 A S de) 100.0 - - - 100.0
BB R - FE TR R 12 1 1 11
100.0 100.0 100.0 - 91.7

FEAL - FE TS 5 - - - 5
100.0 - - - 100.0

i 325 B i 5 3 3 - 2
CE dh A - T i ) 100.0 100.0 100.0 - 40.0
i 3% JH A B 18 21 15 15 - 6
i g | - ) 100.0 100.0 100.0 - 28.6

A Bk 2 - - - 2
100.0 - - - 100.0
125 5% 45 i - - - - -

IR - HH R

& oD il L3 13 2 2 11
100.0 100.0 100.0 - 84.6

Femd e § 68 68
100.0 — - - 100.0
- AR - - - - -
- MR - - - - -
IR 1 - - - 1
100.0 - - - 100.0

it i 1 - - - 1
100.0 - - - 100.0

e 15 - - - 15
100.0 - - - 100.0

[T 18 18
100.0 - - - 100.0

FRAT 2 2
100.0 - - - 100.0

15 85T 4 4
100.0 — - - 100.0

12 - - — 12

100.0 - - - 100.0
225 - BLES - - - - -
AT SNRAT A 7 - - - 7
100.0 - - - 100.0

EEE I g S 1 1
100.0 - - - 100.0

Wk 7T -k 1 1
100.0 - - - 100.0

<& o> filL Ff R 6 6
100.0 — - - 100.0
L] - - - - -
Tz | A e 20 20 - 116
N 100.0 100.0 - 85.3
M| s A 2 2 - 18
AL 100.0 100.0 - 90.0
B | A~ 5 - - - 5
100.0 - - - 100.0
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12-2. 22 AR
G® RAE - NI (REEXDH) DERE

LB A R¥E (Rh) | B MR (%)
WD W 0 B I o> B 1 B
it A 1~3 J [3~64 1 |64 A~1| VELLE [ FRART | RB] | HREE 6 A |6 H~1| 14LLE ) ol
Rl it ERW ESC A

wH 161 22 2 12 8 - - 139 - - - - - | 161
100.0 100.0 9.1 545 364 - - 86.3 - - - - - - 100.0
ELsEE 93 22 2 12 8 - - 71 - - - - - - 93
il 100.0 100.0 9.1 545 364 - - 6.3 - - - - - - 100.0
B £l - B 5 5 5
100.0 - - - - - - 1000 - - - - - - 100.0
i - - - - - - - - - - - - - - -
G - D - {2 ) - - - - - - - - - - - - - - -
IR - AR ] - E E e - E E ] - E E e - E
AR - KRG (R - A 2 2
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